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GSM/J-21 1535
HINDI (Compulsory)

Time : Three Hours] [Maximum Marks : 80

uksV % lHkh iz'uksa ds mÙkj nhft, A

1. fuEufyf[kr x|ka'kksa esa ls fdUgha nks dh lizlax O;k[;k

dhft, % 6+6=12

(d) xk¡o ls esyk pyk vkSj cPpksa ds lkFk gkfen Hkh tk jgk

Fkk A dHkh lc&ds&lc nkSM+dj vkxs fudy tkrs A fiQj

fdlh isM+ ds uhps [kM+s gksdj lkFk okyksa dk bartkj djrs A

;g yksx D;ksa bruk /hjs&/hjs py jgs gSa A gkfen ds iSjksa

esa rks tSls ia[k yx x, gSa A og dHkh Fkd ldrk gS A

([k) fiQj Hkh eSaus ns[kk] mu vk¡[kksa esa dqN fofp=k lk Hkko

Fkk] ekuksa ekyrh ds Hkhrj dgha dqN ps"Vk dj jgk gks]

fdlh chrh gqbZ ckr dks ;kn djus dh] fdlh fc[kjs gq,

ok;qe.My dks iqu% txkdj xfreku djus dh] fdlh VwVs

gq, O;ogkj&rUrq dks iquthZfor djus dh vkSj ps"Vk esa

liQy u jgk gks A

(x) [kqnk usd dh usdh j[ks vkSj cn dh cnh ekiQ djs A

esjs fy, fpjkx ugha] rqe yksx rks gks A eq>s vkdj bruh

gh rlYyh gqbZ fd ml tekus dh dksbZ ;knxkj gS A eSaus

rqedks ns[k fy;k rks fpjkx dks ns[k fy;k A
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(?k) vPNk gksrk clqefr] ge viuk oksV dkB dh ykfB;k dks

ns vkrs] fujtho ydM+h dks A mBk, mBrh rks A cSjh ij

okj rks djrh A vrh pkyksa ds fojks/ esa iM+rh A ij juohj

dh nqYgu] rqe rks cM+s ?kj dh cgw gh jgh A

2. eksgu jkds'k dk lkfgfR;d ifjp; nhft, A 8

vFkok

dgkuh ds rÙoksa ds vk/kj ij ^iSQlyk* dh leh{kk dhft, A

3. fuEufyf[kr esa ls fdUgha pkj iz'uksa dk izR;sd yxHkx 150 'kCnksa

esa mÙkj nhft, % 4×4=16

(d) bZn dh uekt ds }kjk ys[kd us D;k lans'k fn;k gS \

([k) ^iqjLdkj* dgkuh ds okrkoj.k dh leh{kk dhft, A

(x) ^xSaxzhu* dgkuh dh Hkk"kk&'kSyh ij izdk'k Mkfy, A

(?k) ^eycs dk ekfyd* dgkuh esa o£.kr ;FkkFkZcks/ dk ifjp;

nhft, A

(Ä) ^Bsl* dgkuh dk mís'; Li"V dhft, A

(p) ^iPphl pkSdk Ms<+ lkS* dgkuh dh leL;k dks Li"V

dhft, A

4. fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj nhft, % 8+8=16

(d) fgUnh dgkuh ds mn~Hko vkSj fodkl ij izdk'k Mkfy, A

([k) vkpk;Z jkepUnz 'kqDy ,oa mlds ckn ds fuca/ fodkl

dk ifjp; nhft, A

(x) miU;kl ds mn~Hko ,oa fodkl ij izdk'k Mkfy, A

(?k) f}osnh ;qxhu x| lkfgR; dk ifjp; nhft, A
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5. fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj izR;sd yxHkx 150

'kCnksa esa nhft, % 5+5=10

(d) vk/qfud dky dh lkekftd] lkfgfR;d ifjfLFkfr;ksa dk

o.kZu dhft, A

([k) izlknksÙkj ;qxhu ukVdksa dh fo'ks"krk,¡ fyf[k, A

(x) 'kqDy iwoZ ;qx ds fuca/ fodkl ijEijk dk ifjp;

nhft, A

(?k) HkkjrsUnq;qxhu ukVdksa dk ifjp; nhft, A

6. fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj nhft, % 5+5=10

(d) ikfjHkkf"kd 'kCnkoyh ds Lo:i ij izdk'k Mkfy, A

([k) ikfjHkkf"kd 'kCnkoyh ds xq.k fyf[k, A

(x) ikfjHkkf"kd 'kCnkoyh esa lfØ; jk"Vªh;rkoknh laiznk; dk

ifjp; nhft, A

(?k) ikfjHkkf"kd 'kCnkoyh esa vusd:irk ds fofHkUu dkj.k gSa A

mudks Li"V dhft, A

7. fuEufyf[kr lHkh iz'uksa ds mÙkj nhft, % 1×8=8

(d) pkWd ds fy, fgUnh 'kCn fu/kZfjr gS A

([k) lHkh Kku 'kk[kkvksa dh viuh dSlh 'kCnkoyh gS \

(x) ^,d bap eqLdku* fdldh jpuk gS \

(?k) nks caxyk miU;kldkjksa ds uke fyf[k, A

(Ä) fgUnh dk igyk xhfrukV~; dkSulk gS \

(p) e/wfydk canh cu dj dgk¡ tkuk pkgrh gS \

(N) ^xSaxzhu* dgkuh dk igyk uke D;k Fkk \

(t) clqerh xk¡o esa fdl in ij Fkh \
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GSM/J-21 1539
SANSKRIT (Compulsory)

Group I

Time : Three Hours] [Maximum Marks : 80

uksV % lHkh iz'u vfuok;Z gSa A

1. fuEu iz'uksa ds mÙkj nhft, % 16

(i) ^pk#nÙke~* ukVd esa dqy fdrus vad gSa \

(ii) ukVd ^pk#nÙke~* esa lTtyd dkSu gS \

(iii) uk;d pk#nÙk dk fe=k dkSu gS \

(iv) ik dk fotUr :i] yV~ydkj] iz- iq-] ,dopu esa

fyf[k, A

(v) }U} lekl esa dkSulk in iz/ku gksrk gS \

(vi) ^;'kks/u%* esa dkSulk lekl gS \

(vii) xe~ dk lUur :i iz- iq-] ,dopu yV~ydkj esa :i

fyf[k, A

(viii) lekl esa fdrus in gksrs gSa \

2. (d) fuEufyf[kr esa ls fdUgha nks 'yksdksa dh lizlax O;k[;k

dhft, % 5×2=10

(i) vlkS fg nÙok frfejk.kdk'keLraxrks â"Vei{kpUnz% A

rks;koxk<L; ouf}iL; fo"kk.kdksVho fueTtekuk AA
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(ii) d% Ükz¼kL;fr HkwrkFk± loksZ eka rqyf;";fr A

'kÄïuh;k fg nks"ks"kq fu"izHkkok nfjnzrk AA

(iii) ÑRok fu'kk;ka opuh;nks"ka funzk p fgRok frfeja

Hk;a p A

l ,o lw;ksZn;eUnoh;Z% 'kuS£nokpUnz bokfLe Hkhr% AA

(iv) uj% izR;qidkjkFkhZ foiÙkks yHkrs iQye~ A

f}"krkeso dkyks¿Lrq ;ks¿L;k Hkorq rL; ok AA

([k) fuEufyf[kr esa ls ,d lwfDr dh lizlax O;k[;k dhft, %

vǹ';ekuk piyk tjso ;k euq";oh;± ifjHkw; o/Zrs A 6

vFkok

l ,o lw;ksZn;eUnoh;Z% 'kuS£nokpUnz% bokfLe Hkhr% A

3. (d) ^pk#nÙke~* ukVd ds r`rh; vFkok prqFkZ vad dk lkj

fyf[k, A 8

([k) ^pk#nÙke~* ukVd dh Hkk"kk&'kSyh ij izdk'k Mkfy, A 8

vFkok

pk#nÙk dk pfj=k&fp=k.k dhft, A

4. (d) fuEufyf[kr esa ls fdUgha pkj /krqvksa ds lkFk lUur izR;;

yxkb, % 8

(i) Hkw

(ii) xe~

(iii) fy[k~

(iv) LFkk

(v) nk

(vi) Ñ A
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([k) fuEufyf[kr esa ls fdUgha pkj /krqvksa ds lkFk f.ktUr

izR;; yxkb, % 8

(i) iB~

(ii) ik

(iii) Ükzq

(iv) LFkk

(v) gu~

(vi) Ñ A

5. (d) }U} lekl vFkok cgqozhfg lekl dk mnkgj.k lfgr

ifjp; nhft, A 4

([k) fuEufyf[kr esa ls fdUgha pkj leLr inksa dk foxzg djds

lekl dk uke fyf[k, % 4

(i) jkey{e.kkS

(ii) /ekZFkZdkeeks{kk%

(iii) vgksjk=ke~

(iv) iq=kkS

(v) egkRek

(vi) ftrsfUnz;% A

6. fuEufyf[kr esa ls fdUgha vkB okD;ksa dk laLÑr esa vuqokn

dhft, % 8

(i) i{kh vkdk'k esa mM+ jgs gSa A

(ii) rqe dy dgk¡ tkvksxs \

(iii) cPps vke [kkrs gSa A
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(iv) HkDr izHkq dks ;kn djrk gS A

(v) cqjh vknr dk R;kx djuk pkfg, A

(vi) lnk lp ,oa ehBk cksyks A

(vii) nqX/ vèr leku gksrk gS A

(viii) gesas okrkoj.k dks LoPN j[kuk pkfg, A

(ix) izR;sd O;fDr dks f'kf{kr gksuk pkfg, A

(x) jkek;.k /k£ed xzUFk gS A

(xi) nwljksa ds xq.kksa dks xzg.k djuk pkfg, A

(xii) fHk[kkjh fHk{kk ek¡xrk gS A
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GSM/J-21 1553
HEALTH AND PHYSICAL EDUCATION

Time : Three Hours] [Maximum Marks : 60

Note : Attempt one question from each Unit I, II, III and IV.

Unit V is compulsory for all.

bdkbZ I, II, III rFkk IV ls ,d iz'u dhft, A bdkbZ V

lHkh ds fy, vfuok;Z gS A

Unit I (bdkbZ I)

1. Define warming-up and explain the significance of

warming-up.

xekZuk dks ifjHkkf"kr dhft, vkSj xekZus ds egÙo dk foLrkjiwoZd

o.kZu dhft, A

2. What is cooling down ? Explain the significance of cooling

down in the field of sports.

dw¯yx Mkmu dk D;k vFkZ gS \ [ksy&dwn ds {ks=k esa dw¯yx Mkmu

ds egÙo dk mYys[k dhft, A
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Unit II (bdkbZ II)

3. What do you mean by Sports Psychology ? Explain the

importance of Sports Psychology in the field of Game

and Sports.

[ksy euksfoKku ls D;k rkRi;Z gS \ [ksy&dwn ds {ks=k esa [ksy

euksfoKku dh egÙkk dk mYys[k dhft, A

4. What is the meaning of learning ? Describe the laws of

learning.

lh[kus ls D;k rkRi;Z gS \ lh[kus ds fu;eksa dk foLrkjiwoZd

o.kZu dhft, A

Unit III (bdkbZ III)

5. Describe the Ancient Olympic Games in detail.

izkphu vksyafid [ksyksa dh foLrkjiwoZd O;k[;k dhft, A

6. Write down the notes on the following :

(a) Objectives of Asian Games.

(b) Explain about opening and closing ceremony of

Modern Olympic Games.

fuEufyf[kr ij fVIi.kh fyf[k, %

(v) ,f'k;kbZ [ksyksa ds mís'; A

(c) vk/qfud vksyafid [ksyksa ds mn~?kkVu vkSj lekiu lekjksg

dk o.kZu dhft, A
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Unit IV (bdkbZ IV)

7. Describe Respiratory System. Discuss effects of exercise

on respiratoy system.

'olu laLFkku ds ckjs esa crkb, A 'olu laLFkku ij O;k;ke dk

D;k izHkko iM+rk gS] O;k[;k dhft, \

8. Describe the various organs of respiratory system in detail.

'olu laLFkku ds fofHkUu vaxksa dk foLrkjiwoZd o.kZu dhft, A

Unit V (bdkbZ V)

9. (i) Explain Passive Warming up.

fuf"Ø; ok²ex vi dk o.kZu dhft, A

(ii) General Warming-up

lkekU; ok²ex vi D;k gS \

(iii) Define learning curve.

lh[kus ds oØ dks ifjHkkf"kr dhft, A

(iv) What do you mean by Plateau ?

iBkj fdls dgrs gSa \

(v) Define Olympic Flame.

vksyafid T;ksfr dks ifjHkkf"kr dhft, A

(vi) What do you mean by Olympic flag ?

vksyafid èot esa vki D;k tkurs gSa \
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(vii) What is the Olympic Oath ?

vksyfEid 'kiFk D;k gS \

(viii) Explain the structure of nose.

ukd dh lajpuk dk o.kZu dhft, A

(ix) What do you mean by total lung capacity ?

isQiQM+ksa dh dqy {kerk ls vkidk D;k rkRi;Z gS \

(x) Define Tidal Volume.

Vk;My vk;ru dks ifjHkkf"kr dhft, A
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GSM/J-21 1556
MUSIC

P-II

Instrumental (Sitar)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one

question from each Unit. All questions carry equal

marks.

izR;sd bdkbZ esa ls de ls de ,d iz'u pqurs gq,] dqy
ik¡p iz'uksa ds mÙkj nhft, A iz'u la[;k 1 vfuok;Z gS A
lHkh iz'uksa ds vad leku gSa A

Unit I (bdkbZ I)

1. Give detailed description of the following Ragas :

(a) Shuddha Kalyan

(b) Khamaj.

fuEufyf[kr jkxksa dk ifjp; foLrkj ls fyf[k, %
(v) 'kq¼ dY;k.k
(c) [kekt A

2. Write the notation of Maseetkhani Gat with its at least

two Alap and two Todas from prescribed in syllabus.

vius ikB~;Øe esa ls fdlh ,d jkx dh elhr[kkuh xr de ls
de nks vkyki vkSj nks rksM+ksa lfgr Lojfyfic¼ dhft, A
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3. Write the description of the Chautal Tal with its Thekas

and Chaugun Laya.

pkjrky dk ifjp; nsrs gq, bldk Bsdk vkSj pkSxqu fyf[k, A

Unit II (bdkbZ II)

4. Define the following :

(a) Avirbhav-Tirobhav

(b) Moorchhana.

fuEufyf[kr dks ifjHkkf"kr dhft, %

(v) vkfoHkkZo&frjksHkko

(c) ewPNZuk A

5. Write in detail on the development of Indian classical

music in medieval period.

eè; dky esa Hkkjrh; 'kkL=kh; laxhr ds fodklØe ds ckjs esa

foLrkj ls fyf[k, A

6. Write in detail in your own words about any two famous

musician of medieval period.

eè; dky ds fdUgha nks izeq[k laxhrdkjksa ds ;ksxnku dk vius

'kCnksa esa o.kZu dhft, A

Unit III (bdkbZ III)

7. What is the role of Science in promoting educational and

cultural aspect of music in modern period ? Elaborate it.

vk/qfud dky esa laxhr dh 'kS{kf.kd ,oa lkaLÑfrd pkg dks

c<+kok nsus esa foKku dh D;k Hkwfedk gS \ foLrkj ls fyf[k, A
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8. Write in your own words about the contribution towards

Indian Classical Music by Smt. Annapurna Devi.

Ükzherh vUuiw.kkZ nsoh }kjk Hkkjrh; 'kkL=kh; laxhr dks fn, vrqyuh;

;ksxnku dk vius 'kCnksa esa o.kZu dhft, A

9. Write in detail about the origin, development and parts of

the Tabla.

rcyk dh mRifÙk] fodklØe ,oa vaxksa ds ckjs esa foLrkj ls

fyf[k, A

10. Compare the following instruments with their description :

(a) Sarod

(b) Violin

fuEufyf[kr ok|ksa dk ifjp; nsrs gq, budh rqyuk foLrkj ls

dhft, %

(v) ljksn

(c) okW;fyu A
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GSM/M-21 1576
POLITICAL SCIENCE-II

Option I

Western Political Thinkers

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any Five questions. All questions carry equal

marks.

fdUgha ik¡p iz'uksa ds mÙkj nhft, A lHkh iz'uksa ds vad

leku gSa A

1. “State is the March of God on Earth.” Explain this

statement of Hegal. 16

^^jkT; i`Foh ij bZ'oj dk vorkj gS A** ghxy ds bl dFku dh

O;k[;k dhft, A

2. Critically discuss Marxist theory of Class-struggle. 16

ekDlZ ds oxZ&la?k"kZ ds fopkj dh vkykspukRed O;k[;k dhft, A

3. What do you know about Lenin’s views on revolution ? 16

ysfuu ds ØkfUr lEcU/h fopkjksa ls vki D;k le>rs gSa \

4. Critically discuss Mao’s concept of cultural revolution. 16

ekvks dh lkaLÑfrd ØkfUr dh vo/kj.kk dh vkykspukRed

foospuk dhft, A

(3)L-1576 1



5. Discuss G.D.H. Cole’s views on Pluralism. 16

th-Mh-,p- dksy ds cgqyokn lEcU/h fopkjksa dk o.kZu dhft, A

6. Write an essay on Laski’s views on rights. 16

ykLdh ds vf/dkj lEcU/h fopkjksa ij ,d fucU/ fyf[k, A

7. Critically explain John Rawls theory of Justice. 16

tkWu jkWYl ds U;k; ds fl¼kUr dh vkykspukRed O;k[;k dhft, A

8. Discuss the Entitlement theory of Justice. 16

U;k; ds ;ksX;rkoknh fl¼kar dk o.kZu dhft, A

9. This question has eight multiple choice/objective type

questions of 2 marks each.

bl iz'u esa 2&2 vadksa ds vkB cgqfodYih; iz'u 'kkfey gSa A

(i) Who said the State is the birth of God on the

Earth ? 2

(a) Hegal (b) Aristotle

(c) Mill (d) Lenin

;s fdlus dgk fd jkT; i`Foh ij bZ'oj dk vorj.k gS \

(v) ghxy (c) vjLrq

(l) fey (n) ysfuu

(ii) Who is the author of ‘Das Capital’ ? 2

(a) Hegal (b) Marx

(c) Cole (d) Laski

^nkl dSfiVy* dk ys[kd dkSu gS \

(v) ghxy (c) ekDlZ

(l) dksy (n) ykLdh
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(iii) Who was the leader of Russian Revolution ? 2

(a) Lenin (b) Mao

(c) Marx (d) Austin

:lh ØkfUr dk usrk dkSu Fkk \
(v) ysfuu (c) ekvks
(l) ekDlZ (n) vkWfLVu

(iv) Who was the father of cultural revolution in

China ? 2

(a) Mao (b) Gandhi

(c) Nehru (d) Lenin

phu esa lkaLÑfrd ØkafUr dkSu yk;k \
(v) ekvks (c) xk¡/h
(l) usg: (n) ysfuu

(v) Who is the author of the book ‘Grammar of

Politics’ ? 2

(a) Cole (b) Mark

(c) Laski (d) Hegal

^xzkej vkWiQ ikWfyfVDl* ds ys[kd dkSu gSa \
(v) dksy (c) ekDlZ
(l) ykLdh (n) ghxy

(vi) Who is the thinker of Pluralist theory of

Sovereignty ? 2

(a) Cole (b) Austin

(c) Bodin (d) Marx

izHkqlÙkk ds cgqyoknh fl¼akr dk leFkZd ^fopkjd* dkSu
gS \
(v) dksy (c) vkWfLVu
(l) cksfnu (n) ekDlZ

(3)L-1576 3



(vii) Who is the thinker of Distributive theory of

Justice ? 2

(a) Robert Nozick (b) John Rawls

(c) Plato (d) Mill

forj.kkRed U;k; ds fl¼kar ls lEcfU/r fopkjd dkSu

gS \

(v) jkWcVZ ukWftd (c) tkWu jkYl

(l) IysVks (n) fey

(viii) Who is the author of the book ‘Anarchy State and

Utopia ? 2

(a) Rawls (b) James

(c) Hegal (d) Nozick

^vukphZ LVsV ,.M ;wVksfi;k* iqLrd ds ys[kd dkSu gaS \

(v) jkWYl (c) tsEl

(l) ghxy (n) ukWftd
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BAM/J-21 15001
   ENGLISH

Time : Three Hours] [Maximum Marks : 80

Note : All questions are compulsory.

1. Explain one stanza/passage with reference to the context :

Heard melodies are sweet, but those unheard

Are sweeter ; therefore, ye soft pipes, play on ;

Not to the sensual ear, but, more endear'd,

Pipe to the spirit ditties of no tone :

OR

India is culturally rich, Mr. Morris, though economically

backward. Our spiritual life is so much better compared to

materialistic America. 8

2. (a) Answer any six of the following questions in a word/

phrase/sentence :

(i) Name the writer of sonnet XVIII.

(ii) What is an elegy ?

(iii) What does Yeats say about his beloved's eyes ?

(iv) Why are the bangle-sellers going to the temple

fair ?

(v) How does Duryodhana plan to receive the envoy ?
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(vi) How long has svietlovidoff been an Actor ?

(vii) What is Herbert's attitude to Morris's stories ?

(viii) Why, according to Mrs. Rowland, will her husband

not beg, borrow or steal ? 6

(b) Answer any four questions in 100 words each :

(i) What is the theme of the sonnet ‘sonnet XVIII’.

(ii) The poem ‘The world is Too Much with Us’

expresses the poet's greatest disillusionment with

the world. Discuss.

(iii) Explain the beauty and significance of bangles as

brought out by the poet.

(iv) Krishna's visit as an envoy stands for peace and

reconciliation between the Pandavas and the

Kauravas. Explain.

(v) Why does Morris leave the gathering ? What effect

does his departure have on the others ?

(vi) Why does Mrs. Rowland not want to leave her

husband and go back to her parents. (4×3=12)

3. Answer any one in about 200 words :

“Man is a confused being,” says Pope. Where does the root

of his confusion lie ?

OR

Justify the appropriateness of the title of the play ‘The swan

song’. 12



4. (A) Attempt any fifteen out of the following :

(a) Combine each of the following pairs of sentences

into one sentence using ‘too/enough’ with

infinitive :

(i) It is very cold. We can't bath.

(ii) He was furious. He couldn't speak.

(iii) The coffee isn't strong. It won't keep us

awake.

(iv) You are are quite thin. You could slip

between the bars.

(b) Fill in each blank with the correct form (either

gerund or infinitive) of the verb given in brackets.

(v) He managed ......... the station in time. (reach)

(vi) Why do you keep ......... back ?(look)

(vii) You will never regret ........ a kind action.(do)

(viii)I hope ........... this time.(pass)

(c) Fill in the blanks with appropriate prepositions :

(ix) The cat sat ............ the table.

(x) We will have completed the work ............

tomorrow.

(xi) Write ............ ink.

(xii) A gale got up ........... the night, and did much

damage.

(d) Complete the following sentences using a noun

clause :

������������	� � 
��
���



(xiii)............. seems doubtful.

(xiv)Pay attention to ............. .

(xv) It is true ........... .

(xvi)My success depends on .............. .

(e) Fill in the blanks with words formed by adding
suitable suffixes to the ones in brackets :

(xvii) Let us stop this .............. discussion.

(meaning)

(xviii) Is there some new ........... ?(develop)

(xix)He was acting in a very ......... manner.

(child)

(xx) Your offer is ............. to us.(accept)

15

(B) Why is it important to write good dialogues ? How does
it contribute to developing your language skills ?

OR

In response to a newspaper advertisement, write a letter
to the personnel manager of New Delhi Engineering
Pvt Ltd., applying for the post of an assistant engineer
in the company. Prepare a resume that suits this job
and write a covering letter for this resume. 6

(C) Transcribe the following words. Do any five :

(i) Mantle.

(ii) Dregs.

(iii) Song.

(iv) Yarn.

������������	� �



(v) Fitfully.

(vi) Waste.

(vii) Veteran.

(viii) Event. 5

(For Blind Candidates Only)

Write synonyms of any five words.

(i) Accuse.

(ii) Beauty.

(iii) Cheerless.

(iv) Drunk.

(v) Foreigner.

(vi) Hard.

(vii) Noble.

(viii) Zero. (1×5=5)

(D) Supply antonyms of the following words. Do any five :

(i) Above.

(ii) Bitter.

(iii) Comedy.

(iv) Virtue.

(v) Inhale.

(vi) Punctual. 4

������������	� � 
��
���



5. (a) Translate the following passage into English :

��������	
�����
�����������������������������������	�

����� ��� ��	� 
����� ������ ���� ��� ���� ����� ����� �	

�������	���
�����������������������������������������

� !����	��"#	�$�%������������&'��	
��������(���"#�

 &�������)����	*���������&������������������+
$����

+
+��� �,���
�-����� ��� .

(b) Translate the following passage into Hindi :

Music works as food for man. It is the voice of the
soul. Music is the speech of love. It is a blessing of
nature. Music plays an important role in our life. One
who doesn't love music, is nothing but like a stone.
Music acts as a balm for man's soul. When we get tired
after the whole day's labour, music removes our
tiredness. If there were no music, our life would have
been completely dull.

(For foreign students/Non Hindi students)

Write a paragraph of about  300 words on any one topic :

(i) Students Life.

(ii) Dignity of Labour.

(iii) Rising Prices. 12

������������	� �
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not : swry pRSn h`l krny zrUrI hn[

1. hyT ilKy kvIAW ivcoN iksy iek dy jIvn qy rcnw bwry

crcw kro :

(a) sweIN bu`lHy Swh

(A) vwirs Swh

(e) Swh muhMmd[ 5

2. hyT ilKy kwiv bMdW ivcoN iksy do dI pRsMg sihq

ivAwiKAw kro :

(a) vyd kurwnW pVH pVH Q`ky,

isjdy kridAW Gs gey m`Qy,

nw r`b qIrQ nw r`b m`ky,

ijn pwieAw iqn nUr Anvwr,

ieSk dI nvIEN nvI bhwr[

15007/000/KD/5367 [P. T. O.



(A) rWJw KwvnoN pIvnoN rih cu`kw,

mwr hIr dy ieSk hYrwn kIqw[

au~Qy Akl qy i&kr dI jw nwrIN,

ij`Qy ieSk ny Awx mkwn kIqw[

(e) cmkI Awx dupihrI vyly, grmI grm bhwry[

qpdI vwau vgy AsmwnoN, pMCI mwir auqwry[

AwqS dw dirAwau Kloqw, Ql mwrU vil cwry[

hwSm Pyr ipCWh nw muVdI, lUM lUM 'hoq' pukwry[

(s) muMfy AwKx mu`lW nUM, qUM sux ausqwd hmwry[

ies ihMdU ny ZYr SrHw dI, mu`K QIN bcn aucwry[

pkMbrzwdI nUM k`Fy mwlHIAW, nwl zbwn pukwry[

iek aunHW v`l swhb sI, auh boly kUV pswry[

5+5=10

3. hyT ilKy khwxIkwrW ivcoN iksy iek dI swihqk dyx

bwry crcw kro :

(a) nwnk isMG

(A) sujwn isMG

(e) AjIq kOr

(s) kulvMq ivrk[ 5

15007/000/KD/5367 2
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4. hyT iliKAW khwxIAW ivcoN iksy iek khwxI dI swihqk
prK-pVcol kro :
(a) dwrW
(A) sWJI kMD

(e) goeI

(s) jInq Awpw[ 10

5. 1700 eI. qoN 1850 eI. q`k rcy gey ik`sw kwiv aupr
crcw kro[

jW
1700 eI. qoN 1850 eI. q`k dI pRwpq bIr rsI kivqw

aupr crcw kro[ 10

6. iksy iek ivSy aupr 400 qoN 500 SbdW dw inbMD

ilKo :

(a) gurU nwnk dyv jI

(A) vwqwvrx sMBwl muihMm

(e) mobweIl : vr jW srwp[ 10

7. hyT ilKy CMdW ivcoN iksy iek CMd aupr crcw kro :

(a) sorTw

(A) kib`q

(e) korVw[ 5



15007/000/KD/5367 4

8. hyT ilKy AlMkwrW ivcoN iksy iek bwry crcw kro :

(a) rUpk

(A) AnupRws

(e) lokokqI[ 5

9. hyT ilKy Sbd ju`tW ivcoN iksy pMj nUM vwkW ivc vrq

ky ArQ sp`St kro :

(a) rukw-ru`kw

(A) vl-v`l

(e) imtI-im`tI

(s) nw-nW

(h) s`d-sMd

(k) jg-jMg

(K) pqw-p`qw

(g) pqI-p`qI[ 5

10. hyT ilKy vwkW ivcoN iksy pMj dy iek Sbd ilKo :

(a) Zzl ilKx vwlw

(A) sUeI hoeI m`J

(e) pu`qr jW DI dI s`s



(s) auh z^m jo k`cw hovy

(h) ijs dw ivAwh nw hovy

(k) ku`iqAW dw JuMf

(K) auh QW ij`Qy murdy d`by jwx

(g) muMfy dy ivAwh qy gwey jwx vwly gIq[ 5

11. hyT ilKy SbdW ivcoN iksy ds dw pMjwbI Anuvwd

ilKo :

(a) Meter (b) Prefix

(c) Style (d) Vision

(e) Drama (f) Opera

(g) Verse (h) Paradox

(i) Satire (j) Element

(k) Conflict (l) Catharsis. 10

——————
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Note : Attempt five questions in all, selecting one question from
each unit. Question No. 1 is compulsory. All questions
carry equal marks.

����� � ������� ��	�
� ��� ��� ���
� ����� ����� ���� 	�
�� ���

������� ���
� ����	� �� ��
�	�
� ���� ��	�� ���
	��� ��� ���
� 	
� ����

Compulsory Question �
������� 	����

1. (a) State whether the following statements are True or
False :

!�	��� ��� �
"
����	�� �#	
� ���� ���� �	� $�� %
(i) In calculating a country's GNP at market prices,

subsidies are included.

����� &��	� ��� !	�	�� �� �	��� �� GNP� �	� �
� 	

�$	��� � �� �� ��� �
�&	
	��� �	�� �	�'(	� �	�	� ���

(ii) The classical theory of employment is based on
Say's Law of Market.

�	��$	���	� ��"��	�	&�� ��)	*�� +��,���� !	�	�� �
� 
��� �	-	���� ���

(iii) The slope of consumption function is defined as
MPC.

.��		�$� �/�
� �	� 0	�� �� 	*�� .��		�$� ���1��� ���

����������	�
� �
�����



����������	�
� �

(iv) Net investment is represented by replacement of a
machine.

 �	�
��	���
2#		
�
��	�)� �
���	��	�� 3�4�����	����

(v) Bonds and debentures are near money.

!	56'� �	��� 76	8�9	� �
�:�  �&�	� ����

(vi) Keynes regards money  as neutral.

��*��  �&�	��	�� �:2#	�  	
�	� ���

(vii) The commercial banks may issue currency notes.

3�	�	���� !���� 
	�:� �	��� ��� ����� ����

(viii) Primary deposits are the basis of credit creation.

��	#	� ��� 	�;� �	�	� �
 	
6	��	��	-	�� ����

(ix) A good tax is more expensive.

����<=	� ��� ��-�� �	>�
�	� �	��	� ���

(x) A monopolist can shift the whole tax. (1×10=10)

��� ��	�-�	��� �"�?6	
� ��� �	� ����

� ��� ���	
���

(b) Give short answer :

�@	?� .A	�� &���� %

(i) What is voluntary unemployment ?

���<=�� !��	��$	��� 4�	� ��B

(ii) Define propensity to invest.

�
���	� ���1��� ��� ����		C		� &���

(iii) What is demand pull inflation ? (2×3=6)

 	�$� �������  �&�	82�/���� 4�	� ��B



����������	�
� 
 �
�����

UNIT–I ������–I�

2. Define National Income. Discuss value-added approach to
National Income with example along with precautions. 16

�	C:D��� �	�� ��� ����		C		� &���� �	C:D��� �	�� ��� $6	
	� ��
�� ��
 ?E�� �1�)� ���-� �	� .&	��6	� ����� �6	

� ������ ��� ���-� ��
�	�-	�
�	;� �	�� !�	���

3. Define Marginal Efficiency of capital. What are the factors
which determine it ? 16

�?���� ��� �� 	��� F	 �	� �	�� ����		�C	�� ������� ���	�� �
-	
���
��
�� �	��� �	��� 4�	� ���B

UNIT–II ������–II�

4. Critically examine Hick's model of Trade cycle. 16

��4����� 3�	�	�� >G�  	5'����� �	�	�>
	� �� 3�	��	� �����

5. What is Trade Cycle ? What are its causes ? Express the
measures to control it. 16

3�	�	�� >G� 4�	� ��B� ����� 4�	� �	�6	� �	���� ���B� ���� �
��*9	�
��
�� ��� .�	�� �	�� !�	���

UNIT–III ������–III�

6. Define Money. Discuss the nature and functions of Money.
16

 �&�	��������		C		�&������ �&�	������H����#		��	�	�I����3�	��	
�����



����������	�
� �

7. What do you mean by credit creation ? How do the

commercial banks create credit ? State the limitations of credit

creation. 16

�	�	� �
 	
6	� ��� 4�	� ���	��	�� ��B� 3�	�	���� !���� ���� ���	�

�	�	��	��
 	
6	���������B��	�	8�
 	
6	��������� 	�;��	��!�	���

UNIT–IV ������–IV�

8. Define Public Finance. Discuss its scope and importance.

16

�	�
��
����A	��������		C		�&�������	�
��
����A	����F	�9	��#		

 �A�� �	� �6	

� �����

9. State and explain the principal Canons of Taxation. Also

discuss main characteristics of a good tax system. 16

��	��� ���  ���� ��)	*�	��� �	� �6	

� ������ ����<=�� ��� ��6		��

���  ���� ���	�C	�	�	��� �	� �6	

� �����
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Note : Attempt five questions in all, selecting one question from

each unit. All questions carry equal marks.

����� � ���������	�
�����
���������������������	�
������	��������	�

������� 
�	�� ����	��� ��� ���� 
�	�� � ��

UNIT–I �
��
�–I�

1. Objective type questions : (8×2=16)

!"����#$� ���� %

(i) How many Fundamental Rights are there in Indian

Constitution?

�		����� 
��!&	�� ���� ������ �	 �'�� ��&�	�� ���� (�� �� )

(ii) How members can be nominated by the President in

Rajya Sabha?

(a) 12

(b) 15

(c) 22

(d) 21.

�����������	
� ��
�
�




�����������	
� 	

�	#*+�����	,��
�		�����������
�"����	��������
��	�� )

-�. /0

-1	. /2

-(. 00

-3	. 0/4

(iii) To whom the Chief Minister gives his resignation?

��1���5	�� ��
�� ���	� ��	(6�5	� ���	� � )

(iv) Who is the Constitutional Head of the State?

�	,���	� 
�! &	���� ���1	�	��	 �� �	��	� � )

(v) Who is the head of Cabinet Secretariat?

� �7��*� 
��!	'���	� ����1	� �	 �� �	��	� � )

(vi) Which ministry is accountable to maintain law and order
situation?

(a) Finance Ministry

(b) Defence Ministry

(c) Home Ministry

(d) None of these.

�	�8�� �!�� 9�!":		� 7�	�� �1	��� �	� ��	��	���!� ��


��5		'���	� � )

-�. �!�	� ��5		'�

-1	. �;		� ��5		'�

-(. (<�� ��5		'�

-3	. ������ 
�� �	��
� ����
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� � ��
�
�


(vii) Where is the training to Indian Police Services Officers

imparted?

�		����� ���'
� 
�!	�	��� ��� ��&�	���	��� �	�� ����	;	=	� ��	�

���	� �	�	� � )

(viii) Write the full form of CAG and UPSC.

CAG��!��UPSC �	� �8�	�>�� �'�1	��

UNIT–II �
��
�–II�

2. Discuss the role of Indian Administration in the Socio-

economic Development of the Nation. 16

�	#*+����
	�	���6�	�:	
���!�	
������		��������		
������	8���	

�	� !=	
��������

3. Discuss the main characteristics of Indian Administration.

16

�		����� ���		
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UNIT–III �
��
�–III�

4. Describe the powers and position of the Indian Prime

Minister. 16
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5. Discuss the role of Governor as a head of the State

Government and as a representative of Central Government.

16
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UNIT–IV �
��
�–IV�

6. Discuss the organisation and functions of Central Ministry

of Finance. 16
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7. Discuss the role of Comptroller and Auditor General in

financial administration, 16
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UNIT–V �
��
�–V�

8. What do you mean by Promotion? Describe the main

principles of promotion. 16
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9. What is the role of District Administration in Indian

Administration?
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ENGLISH

(English Compulsory)

Time : Three Hours] [Maximum Marks : 80

Note : All questions are compulsory.

1. (a) Explain with reference to the context one of the

following extracts : (5)

Kenchamma is our goddess. Great and bounteous is

she. She killed a demon ages, ages ago, a demon that

had come to demand our young sons as food and our

young women as wives. Kenchamma came from the

Heavens– it was sage Tripura who had made penances

to bring her down – and she waged such a battle and

she fought so many a night that the blood soaked and

soaked into the earth, and that is why the Kenchamma

hill is all red.

OR

“Most certainly, Range Gowda. One cannot become a

member of the congress if one will not promise to

practise ahimsa and to speak truth and to spin atleast

��������	�
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�����



��������	�
��� �

two thousand yards of yarn per year.” At which Range

Gowda bursts out laughing again and says, "Then I too

will have one day to sit and meditate, taking three cups

of salted water per day!" And moorthy laughs with him,

and once they have talked over rents and law courts

and the sloth of the peasants, Range Gowda turns back

to the subject and says, "Do what you like, learned

master. You know things better than I do, and I, I know

you are not a man to spit on our confidence in you. If

you think I should become a member of the congress,

let me be a member of the congress. if you want me to

be a slave, I shall be your slave."

(b) Explain with reference to the context one of the

following extracts : (5)

The devil can cite scripture for his purpose

An evil soul producing holy witness.

Is like a villain with a smiling cheek,

A goodly apple rotten at the heart ;

O, what a goodly outside falsehood hath!

OR

The quality of mercy is not strained ;

It droppeth as the gentle rain from heaven

Upon the place beneath : it is twice blessed ;

It blesseth him that gives and him that takes.

"Tis mightiest in the mightiest".



2. Answer any five questions in about 30 words each : (10)

(a) What kind of caste division do you find in the village

Kanthapura?

(b) Who is Bhatta?

(c) What vision does Moorthy have about Gandhi ji?

(d) What kind of man is the New Sahib?

(e) How does Antonio explain his melancholy?

(f) Which casket does the Prince of Arragon choose and

why?

(g) How does Antonio ill-treat Shylock?

(h) How does Bassanio choose the right casket and wins?

3. Answer the following questions in about 250 words each :

(a) Moorthy is the hero of the novel Kanthapura. Do you

agree? Give your detailed opinion.

OR

Analyse the role and status of female characters of

Kanthapura.

(b) Attempt a character sketch of Shylock.

OR

Comment on The Merchant of Venice as a tragicomedy.

(5×2=10)
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4. Write a letter to the Editor of a leading English daily to draw

the attention of the authorities and public to the problem of

durg addiction among the youth today.

OR

Write a letter of enquiry to the Controller of Examinations

to know when your result of revaluation is expected to be

declared as you are losing time for applying for further

studies. (10)

5. Write a precis of the following passage and assign a suitable

title : (8)

Success grows out of struggles to overcome difficulties. If

there were no difficulties, there would be no success. If there

were nothing to struggle or compete for, there would be

nothing achieved. It is well, therefore, that men should be

under the necessity of exerting themselves. In this necessity

for exertion we find the chief source of human advancement-

the advancement of individuals as well as of nations. It has

led to most of the splendid mechanical inventions and

improvements of the age. It has stimulated the ship-builder,

the merchant, the manufacturer, the machinist, the tradesman

and skilled workman. In all departments of productive

industry, it has been the moving power. It has developed

the resources of this and of other countries - the resources

of the soil and the character and qualities of the men who

dwell upon it. It seems to be absolutely necessary for the

��������	�
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purpose of stimulating the growth and culture of every

individual. It is deeply rooted in  man, leading him to seek

after and endeavour to realise something better and higher

than he has yet attained.

6. (a) Write one word substitution of any five expressions :

(i) The science of gardening.

(ii) The killing of a king.

(iii) Prayers offered in the evening.

(iv) No rule of law.

(v) A book which gives information on all subjects.

(vi) One who is particular about the smallest detail.

(vii) Favouring one's own relatives.

(viii) Something which is entirely beyond belief. (10)

(b) Write short notes on any two terms :

(i) Memo.

(ii) RTI.

(iii) E-mail.

(iv) Circular. (10)

(c) Transcribe the following words and also mark the

primary stress. (any five) (5)

Record, object, detail, invite, produce, refund, village,

decrease.
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OR

(For blind candidates only)

Attempt any five idioms in your own sentences : (5)

To be in one's good books ; to nip in the bud ; a rainy

day ; apple of discord ; by hook or by crook ; a big

gun ; dark horse ; a bolt from the blue ; at the eleventh

hour ; in cold blood.

(d) Transform any seven sentences as directed : (7)

(i) This is the letter which was written by him.

(Convert it into a simple sentence)

(ii) I was glad when I heard of your success.

(Convert it into a simple sentence)

(iii) Besides being beautiful, the girl is clever.

(Convert it into a compound sentence)

(iv) Please listen to me.

(Convert it into a complex sentence)

(v) The clerk admitted his mistake.

(Convert it into a complex sentence)

(vi) Seeing the police, the thief escaped.

(Convert it into a compound sentence)

(vii) Throwing off his shirt, he jumped into the sea.

(Convert it into a compound sentence)

(viii) I saw a wounded dog.

(Convert it into a complex sentence)

��������	�
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(ix) Tell me when the meeting is to take place.

(Convert it into a simple sentence)

(x) I was the first to reach the spot.

(Convert it into a complex sentence)

��������	�
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ENGLISH-A

Time : Three Hours] [Maximum Marks : 40

Note : Attempt all questions :

1. (a) The Canker blooms have full as deep a dye,

As perfumed tincture of the roses

Hang on such thorns, and play as Wantonly,

When summer's breath their masked buds discloses.

OR

With how sad steps, O moon thou climbist the skies,

How silently, and with how wan a face.

What, may it be, that even in heav'nly place

That busy archer his sharp arrows tries? 4

(b) To-morrow and tomorrow and to-morrow,

Creeps in this petty pace from day to day,

To the last syllable of recorded time,

And all our yesterdays have lighted fools

The way to dusty death.

OR

Fair is foul and foul is fair:

Hover through the fog and fiethy air. 4
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2. Answer the following questions in 30-40 words each :

(a) (i) How was the life after falling in love? (Cononest)

OR

What makes beauty beauteous? (O' How Much
More Doth Beauty) 2

(ii) What did the Scythe speak to the poet? (Mowing)

OR

How does poet compare the outer qualities of a
garden rose and a hedge rose? (O' How Much
More Doth Beauty) 2

(b) (i) How does Lady Macbeth die?

OR

How does Lady Macbeth greet Duncan on his
arrival at her Castle? 2

(ii) How does Banquo get killed?

OR

Briefly describe Lady Macbeth's sleep-walking
scene. 2

3. Attempt a character-sketch of the Patriot.

OR

Attempt a critical appreciation of the peom "With How Sad
Steps". 8

4. Write a brief character-sketch of Lady Macbeth.

OR

Comment on the role played by Macduff in the play. 8
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5. Answer any four of the following questions :

(a) (i) Where is the Patriot being taken to? (The Patriot)

(ii) Explain : "Close-bosom friend of Maturing Sun."

(iii) What were the three companions of the poet in
his youth. (Youth and Age)

(iv) What does Arnold say about the sea of faith?

(v) Name the poet of the poem "Youth and Age".

(vi) Who is the close bosom friend of the sun?
(To Autumn)

(vii) "The Hero" is a verse by which poet?

(viii) What did the Scythe tell the poet? 4

(b) (i) Who is the king of Scotland?

(ii) Who kills Banquo?

(iii) Who carries this blood stained dagger back to the
king's chamber?

(iv) What does the third apparition tell Macbeth?

(v) Who is Siward?

(vi) Where was Macbeth's Castle situated?

(vii) How do three witches greet Banquo ?

(viii) What is Macbeth's stale of mind after his wife's
death? 4
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BAQ/D-20 15051
ENGLISH-B

Time : Three Hours] [Maximum Marks : 40

Note : Attempt all the five questions.

1. Write an essay on any of the following topics in about 400
words :

(a) Raggind : A menance.

(b) Value of Games.

(c) Value of Punctuality.

(d) Drug Addiction. 8

2. Write a letter to the Editor of a newspaper about insanitary
condition of your locality.

OR

Write a letter to a friend congratulating on success in
examination. 6

3. Make a suitable title of the following passage and precise
it :

You may think that science is dull and difficult, as some

treatises on science do bristle with technical terms and

�����������	�
 ��
�
�




�����������	�
 	

formidable formulas. But you need not master all the details

of all the branches of Natural Science ; that is the task of the

specialists in each branch.  In fact, you have already been a

scientist in a general way ever since you were born. You

may be surprised at this compliment, but you must know

that science means an observation of the phenomena of nature

(and of human nature), experiments under controlled

conditions, formulation of hypothesis, verification etc. When

you were a child, you observed the habits of birds insects,

and drew certain inferences about them; you then acted as

an amateur scientist. Science only ask you to keep your eyes

and ears open; your heart and well trained mind will

apprehend the sequence and significance of the facts

observed.

OR

Trees give shade for the benefit of others and while they

themselves stand in the sun and endure scorching heat, they

produce the fruit by which other profit. The character of a

good man is like that of a tree. What is the use of this

perishable body, if no use of it is made for the benefit of

mankind ? Sandalwood, the more it is rubbed the more scent

does it yield, Sugarcane, the more it is beeled and cut into

pieces, the more juice does it produce. Gold the more it is

burnt, the brightly does it shine. Men who are noble at heart

do not lose these qualities even if they lose their lives. What

does matter men praise them or not ? Life is unprofitable to

a man who does not live for others. To live for the mere

sake of living one's life is to live the life of dogs and cows.
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Those who, lay down their lives for the sake of a friend, or

even for the sake of a stranger, will assuredly dwell forever

in a world of bliss. 6

4. (a) Correct any five of the following sentences :

(i) My trouser is tight at the waist.

(ii) Much need to be done.

(iii) She never allows him to sit with her.

(iv) She is needing a pen.

(v) Sita is junior than Geeta.

(vi) Himself opened the door.

(vii) Each of the students should do their best. 5

(b) Give one world substitute. Attempt any three :

(i) One who looks to the dark side of things.

(ii) One whose husband is dead.

(iii) A place where fishes are kept.

(iv) One who believe in the existance of God. 3

(c) Give synonyms of the following words :

(i) Arrest.

(ii) Brave. 1

(d) Give antonyms of the following words :

(i) Dry.

(ii) Bless. 1



5. How can, according to Dale Carnegie, one win people to

one's way of thinking by admitting one's mistake.

OR

What is meant by "the scientific point of view "? What are

its characteristics ? How do the ‘enemies’ of science react to

this point of view. 10
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15054

BAQ/D–20

PUNJABI

(COMPULSORY)

Time : Three Hours] [Maximum Marks : 80

not : swry pRSn h`l krny zrUrI hn[

1. hyT iliKAW iv`coN iksy iek dy jIvn qy rcnw aupr

crcw kro :

(a) gurU nwnk dyv jI[

(A) BweI gurdws[

(e) bwbw &rId[ 5

15054/000/KD/5368 [P. T. O.



2. hyT ilKy pYirHAW iv`coN iksy do dI pRsMg sihq ivAwiKAw

kro :

(a) jy ko hovy dublw nMg BuK kI pIr]

dmVw plY nw pvY nw ko dyvY DIr]

suAwrQ suAwau n ko kry n ikCu hovY kwju]

iciq AwvY Es pwrbRhm inhclu hovY rwju]

(A) ibriD BieE sUJY nhI kwlu puhuicE Awnu]

khu nwnk nr bwvry ikau n BjY Bgvwnu]

(e) ivAwh hovy C`f dyvW, mMg nw C`fI jw[

jykr mMg C`f dyvW, lgy KrlW nUM lwj[

pu`q imrzw nUMh swihbW, swfI turn j`g ivc vwh[

15054/000/KD/5368 2
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(s) hoeI Alop BvwnI dyvW rwj dy[

eIsr dI brdwnI hoey ij`q idn[

suMB insuMB gumwnI jnmy sUrmy[

ieMdr dI rwjDwnI q`kI ij`qnI[ 10+10=20

3. hyT ilKy vwrqwkwrW ivcoN iksy iek dy jIvn qy rcnw

aupr crcw kro :

(a) ipRMsIpl qyjw isMG[

(A) SrDw rwm &lorI[

(e) pRo: swihb isMG[ 5

4. hyT ilKy lyKW ivcoN iksy iek dw srbp`KI AiDAYn

pRsquq kro :

(a) vqn dw ipAwr[



15054/000/KD/5368 4

(A) gurbwxI[

(e) Byf-cwl[ 20

5. Awpxy izlHy dy cox kimSnr nUM p`qr ilKo, ijs iv`c

AwgwmI coxW iv`c lwaUf spIkrW dI durvrqoN nUM rokx

sMbMDI suJwA pyS kIqy hox[

jW

Awpxy rwj dy ishq mMqrI nUM p`qr ilKo, ijs iv`c

nOjuAwnW ivc̀ niSAW dy vD̀ rhy pRBwvW bwry jwxU krvwauNidAW

hoieAW icMqw pRgt kIqI geI hovy[ 10

6. hyT ilKy pYrHy nUM pVH ky aus ivcoN hyTW id`qy gey svwlW

dy au~qr idE :

pUrn isMG dw rh`svwd ivSv-ivAwpI syDW qy au~cqm

aufwrIAW dI cmqkwrI dI aupj hY[ aus dI S^sIAq



ivc bu`D, is`K gurU, svwmI rwm qIrQ Aqy jwpwn dI

suMdrqw Awid q`Q ies qrHW rc imc gey hn ik ienHW

nUM iek dUjy qoN inKyVnw AsMBv ho jWdw hY[ jy iek Sbd

iv`c kihxw hovy qW auh inrol Awqmw qy suMdrqw dw kvI

hY[ aus dw r`b inrgux dy mukwbly qy srgux hY[ AwpxI

kivqw ivc keI QwvW qy auh pRBU nwloN mwnv dw vDyry

aupwsk idKweI idMdw hY[ ausny pMjwbI qoN ibnW hornW

BwSwvW iv`c vI iliKAw[ kivqw dy ivSy qy rUp dohW p`KW

qoN ausny suqMqr aufwrIAW lweIAW hn[ ausdI kivqw

sYlwnI CMd dI byprvwhI iv`c klw dy aucyry ggnW dI

Xwqrw krwauNdI hY[ ausdI kivqw dw sB qoN pRqIin`D p`K

ausdI kOmIAq qy pMjwbIAq hY[

15054/000/KD/5368 5 [P. T. O.



pRSn :

(a) pRo: pUrn isMG dI kivqw iv`c ikhVy q`Q rc

imc gey hn?

(A) pUrn isMG dw rh`svwd ikho ijhw hY?

(e) pUrn dw r`b ikvyN dw hY?

(s) pUrn isMG dI kivqw dw pRqIin`D p`K ikhVw

hY?

(h) pUrn isMG iks CMd rwhIN klw dy aucyry iSKrW

dI g`l krdw hY? 5

7. hyT ilKy pYrHy nUM sMKyp krky ilKo :

13 ApRYl, 1919 nUM jnrl ryjInlf fwier dy AMimRqsr

ivKy jilHAWvwlw bwg iv`c kIqy jw rhy SWqmeI jlsy

15054/000/KD/5368 6



qy golI clw ky Axmnu`KI kqlyAwm kIqw sI[ AMimRqsr

ivKy rOlt AYkt dy ivroD dI SurUAwq PrvrI, 1919 dy

AwKrIly idnW ivc dyKI jw skdI hY[ ivroD dw Kws

pihlU ieh irhw ik lokW ny Awpxy AsUlW Aqy AwpxI

BwSw rwhIN swmrwjvwdI rwj dy ivru`D Awpxy gu`sy dw

iezhwr Ku`lH ky kIqw[ 5

8. hyT ilKy gey pYrHy nUM ivAwkrixk nymW Anuswr (nWv,

pVnWv, vcn Aqy ivsrwm icMnH) TIk krky ilKo :

Gr dy nyVy hI ip`pl vwlw QVHw sI myrw bwpU kdy au~Qy

jw ky nhIN sI bYTw g`p-S`p mwrn corI-cukwrI krn dI

Awdq nhIN sI isAwsq dI BMn-qoV mnGVq ik`sy khwxIAW

ivc aus dw koeI idlcspI nhIN sI myry bwpU ny kdy

15054/000/KD/5368 7 [P. T. O.



15054/000/KD/5368 8

Srwb nhIN sI pIqI FwxIAW ivc nhIN sI bYTdw koeI

qohmq, koeI krzw nhIN sI svyry rotI qoN bwAd hl lY

ky jwxw vwhuxw AwauNdy hoey p`Ty ilAwauxy h`Q toky nwl

p`Ty kuqrny fMgrW nUM nhwauxw p`Ty pwauxy K`lH dw gqwvw

krnw m`JW coxW huMdw sI 10

——————
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15055

BAQ/D–20

PUNJABI

(ELECTIVE)

Time : Three Hours] [Maximum Marks : 80

not : swry pRSn krny zrUrI hn[

1. hyT ilKy iksy do kwiv-bMdW dI pRsMg sihq ivAwiKAw

kro :

(a) BMif jMmIAY BMif inMmIAY BMif mMgxu ivAwhu,

BMfhu hovY dosqI BMfhu clY rwhu[

BMfu mUAw BMf BwlIAY BMif hovY bMDwnu,

so ikau mMdw AwKIAY ijq jMmih gjwn[

15055/000/KD/5369 [P. T. O.



(A) durgw b`x suxMdI hsI hVH hVwie,

auhI sIh mMgwieAw 'rwkS B`Kxw'

icMqw krhu nw kweI dyvW nUM AwiKAw,

hor hoeI mhW mweI rwks mwrxy[

(e) iek iPkw nw gwlwie sBnw mY scw DxI,

ihAwaU n kYhI Twih mwxk sB Amolvy[

sBnw mn mwixk Twhux mUil mcwgvw,

jy qau iprIAw dI isk ihAwau n Twhy kgydw[

(s) swihbW geI qyl nUM geI pswrI dI h`t

PV nw jwxy q`kVI hwV nw jwxy v`t

qyl Bujwvy Bulw bwxIAW, idqw Sihd aul`t

15055/000/KD/5369 2
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vxj gvw ley bwxIAW bld gvwid ley j`t

iqMn sY nwgw ipV irhw, ho gey cOV cup`t

imrzw swihbW dI dosqI, rhU ivc jg`q[

5×2=10

2. iksy iek kvI dy jIvn Aqy rcnw aupr not ilKo :

(a) gurU nwnk dyv jI

(A) bwbw &rId jI

(e) gurU goibMd isMG jI[ 5

3. iksy iek lyK dI pVcol kro :

(a) vqn dw ipAwr[

(A) guslKwnw[

(e) gurbwxI[ 10
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4. iksy iek lyKk dy jIvn Aqy rcnw aupr not ilKo :

(a) pRo: pUrn isMG[

(A) blrwj swhnI[

(e) gurb^S isMG pRIqlVI[ 5

5. gurmiq kwiv-Dwrw dI pMjwbI swihq nUM dyx bwry crcw

kro[

jW

sRI gurU nwnk dyv jI dI pMjwbI swihq nUM dyx bwry crcw

kro[ 10

6. iksy iek kwiv-rUp aupr not ilKo :

(a) ik`sw[



(A) jMgnwmw[

(e) mhW-kwiv[ 10

7. iksy iek vwrqk rUp aupr not ilKo :

(a) nwvl

(A) s&rnwmw

(e) svY-jIvnI[ 10

8. hyT ilKy pYrHy dI ihMdI BwSw (dyvnwgrI ilpI) iv`c

Anuvwd kro :

bhuq sdguxI mnu`K nUM qr`kI krxw vyK ky lok G`t

eIrKw krdy hn ikauNik auh Awpxy mn iv`c ieh

smJdy hn ik ieh AwdmI ies Awdr dw pwqr hY[

15055/000/KD/5369 5 [P. T. O.



krz dyx nwl koeI iksy dI inMidAw nhIN krdw, pr auh

audwrqw nwl iksy nUM kuJ idMdw vyK ky eIrKw krn lgdy

hn[ ijnHW mnu`KW dI Awps iv`c brwbrI nhIN ho skdI

auhnW iv`c eIrKw vI kdy nhIN jwgdI[ iesy krky

rwijAW dI eIrKw rwjy hI krdy hn hor koeI nhIN[ ieh

vI Xwd r`Kxw cwhIdw hY jd Xogqw riq mnu`K dI qr`kI

ho jWdI hY auh pihly pihl bVI BwrI inMidAw dy pwqr

bx jWdy hn[ 10

9. hyT ilKy pYrHy dI pMjwbI kro (gurmuKI ilpI iv`c) :

15055/000/KD/5369 6
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BAQ/D-20 15057
SANSKRIT

(Elective)

Time : Three Hours] [Maximum Marks : 80
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BAQ/D-20 15058
ECONOMICS

Time : Three Hours] [Maximum Marks : 80

Note : Attempt all parts of question No. 1 which is compulsory.

Attempt four more questions selecting one question from

each unit. All questions carry equal marks.

PART-A

(

1. (a) What is the meaning of development? (1)

(b) What is the meaning of economic growth? (1)

(c) What do you mean by luxury goods? (1)

(d) What do you mean by pollution? (1)

(e) What do you mean by environment? (1)

(f) What do you mean by inter-regional trade? (1)

15058/00/KD/5372/Trans. [P.T.O.



(g) What do you mean by international trade? (1)

(h) What do you mean by multiplier? (1)

(i) What is the meaning of foreign trade? (1)

(j) What is the meaning of deficit? (1)

PART-B

(

(a) What do you mean by unlimited supply of labour?

(1½)

(b) What do you mean by environmental legislation?    (1½)

(c) What do you mean by gains from trade? (1½)

(d) What do you mean by World Bank? (1½)

UNIT–I ( –I )

2. What do you mean by balanced growth? Explain in detail.

(16)

15058/00/KD/5372 2
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3. What do you mean by critical minimum effort thesis? Explain

in detail. (16)

UNIT–II ( –II )

4. What do you mean by environment as a public good?

Explain in detail. (16)

5. What do you mean by sustainable development? Explain in

detail. (16)

UNIT–III ( –III )

6. What do you mean by comparative advantage theory?

Explain in detail. (16)

7. What do you mean by economic growth? Explain in detail.

(16)
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UNIT–IV ( –IV)

8. Explain the functions of IMF in detail. (16)

9. What do you mean by trade reforms in India? Explain in

detail. (16)
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BAQ/D-20 15059
POLITICAL SCIENCE

Comparative Govt. and Politics
(Government and Politics of U.K., U.S.A., China, Switzerland)

Paper : Opt. (i)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting atleast one question
from each part. All questions carry equal marks.
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PART–A �
������

1. Discuss meaning and nature of comparative politics. 16

����	���� �	�������	���	�� ��		� �� ����	� !"	���������

2. Examine the meaning and problems of the constitutionalism.
16


��!#	�!	$��	���	�� ��		� %
��� 
�&�	�	��� �	� !"	���������

3. Describe the basic features of the British political tradition.
16

�'��(�	��	���������)��	��������*	��!�	�+	�	�	����	�!"	���������

4. Discuss the powers and functions of the American President.
16
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PART–B �
������

5. Write a detailed note on communist party of China. 16

���� ��� 
	)�!	$�� $�� ��� ��� �!&�/�� �	�(� ���*	��

6. Discuss the meaning and basic features of the pressure groups

in America. 16

$'	!�
�0�	����	���	�� '�	%�� ��		�������	����� $'	!�
�0�	������

����*	� �!�	�+	�	�	��� �	� !"	���������

7. Examine the socio-economic bases of the Chinese

constitution. 16

�����
��!#	�����
	�	���1�	��	����	#	�	������2�	*�	�������

8. Describe the role of women in the political system of

Switzerland. 16

�&!(����"3�����	�������2�!&�		���������	�	�������	0���	��	

!"	��� ������

PART–C �
������

9. Short Questions :

(a) Constitution.

(b) Election of American President.

(c) Interest Groups.

(d) Political Tradition. (4×4=16)
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10. Objective type questions :

!&����+8� ���� 5

(i) How many states are in U.S.A.?

(a) 13

(b) 29

(c) 50

(d) None of the above.
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(ii) "British Parliament can do everything but cannot make
a man a woman and a woman a man," who said?

(a) Dicey

(b) Ogg and Zink

(c) Finer

(d) De lome.

B�'��(�	� 
�
$� 
'� ��C� ��� 
���� ��� ������ ��� ��D+	

�	�� &E	�� ��		� ��� &E	�� �	�� ��D+	� ����� '�	� 
����F� ��

��
��� ��	� ��G

6�7 3	�
�

6'7 �	H
���		� ����

6
7 �I	%��
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(iii) British constitution is

(a) Written

(b) Unwritten

(c) Rigid

(d) None of the above.
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(iv) In which year the American Constitution was
implemented?

(a) 1789

(b) 1776

(c) 1757

(d) None of the above.

������	��	� 
��!#	�� ��
� !+	�� �	
0� ���	� �		:

6�7 ;JK>

6'7 ;JJL

6
7 ;J?J

6$7 A��	�.�� ���� 
�� �	�%�� �����

(v) Who is the President of U.S.A.?

(a) George Bush

(b) Bill Clinton

(c) Barack Obama

(d) Joe Biden.

������	� �	� �	+(,���� �	��� ��:

6�7 �	���'��	

6'7 �'�� �.��(�

6
7 '�	�� �	�'	�	

6$7 �	�� '	%3��
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(vi) Who wrote the book 'Das Capital'?

(a) Karl Marx

(b) Lenin

(c) Mao

(d) Stalin.

M$	
� ����(�N� ��&��� ��
��� ��*	�� ��:

6�7 �	��� �	.
�

6'7 �����

6
7 �	�	�

6$7 &(	����

(vii) Who is the Prime Minister of England?

(a) David Cameron

(b) Gordon Brown

(c) Tony Blair

(d) Theresa May.

%�O��"3� �	� ��#	��PE	�� �	��� ��:

6�7 3��!3� ���Q�

6'7 
	3��� '�	AI�

6
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(viii) Which type of party-system is in U.S.A.?

(a) One party system

(b) Two party system

(c) Multi-party system

(d) All the above. (2×8=16)

������	� ���� ��
� ���	�� ��� $���12�!&�		� ��:
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BAQ/D-20 15060
HISTORY

(Ancient and Medieval World)

Opt. – (i)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from

each unit. Question No. 1 is compulsory. For visually

handicapped, the part relating to explanatory note will

carry full marks.

����� � ������� ��	�
� ��� ��� ���
��	� ��
	������� ����� ���� 	�
�

���
�����������
�����	�����
�	�
����� !�"#��
���$	%	�
���

���� �#&�'	����� ()	
��*	+� �,��� ���� �	��-��

Compulsory Question �
������� 	����

1. Answer the following questions in short :

(a) Pyramid.

(b) Church.

(c) Surfdom.

(d) Islamic Society. (4×4=16)

�
.
� ���
	��� �	� ���/	&�� 01	��  ���� 2

(�+ ���	�)3�

(�	+ ��
�
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� ��� ������ �������
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(-+ ��4
3)�

(5	+ �6�	�)�� �)	��

UNIT–I ������–I�

2. Describe the polity and society of the Egypt Civilization.
16

�)��� �7��	� ��� �	�
���� �	��� �)	���	� �'	

� �����

3. Throw light on the main features of Mesolithic culture. 16

)8��	"		'	�	��
���69������)�������	�"	�	�	���������	�	�3	����

UNIT–II ������–II�

4. Write a critical note on Ancient Roman Civilization. 16

��	��
� �	�)
� �7��	� ��� ��� �	�	��
	�)�� ���	� ���	���

5. Describe the Main causes of the Rise of Feudalism in Europe.
16

�,�	��� )��� �	):��	 � ��� 0 ����� ��)��	� �	�'		��� �	� �'	

� �����

UNIT–III ������–III�

6. Throw light on the main features of Arabia before Islam.
16

�6�	)� ��� ����� ��;���� )���� ���	�"	�	�	��� ��� ���	�	� 3	����

7. Throw light on the Main Teaching of Prophet Muhammad.
16

��-.;�� )��.) ���� )���� ��	/		�	��� ��� ���	�	� 3	����
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UNIT–IV ������–IV�

8. On the Map of the world, show the Important Places

connected with Mesopotamia and Egypt Civilization. Add a

note also. (10+6=16)

��������)	
��*	����)��	��	�#	�)�	��	��� �)6*	��7��	���� ��)��	

6%		
�  �		
��� ������	� 7	�� ���	���

9. On the map of the world, show the Expansion of Arab Empire

in 1258. Add a note. (10+6=16)

����� ��� )	
��*	� ��� �<=>� �
?� ��� ��;� �	)�	@�� ��� ��6�	�
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��� ������	� 7	�� ���	���





Roll No. ...................... Total Pages : 3

BAQ/D-20 15061
HISTORY

(Modern World)

Opt. : (ii)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from

each unit. Question No. 1 is compulsory. All questions

carry equal marks. Blind candidates may attempt any

other question in lieu of the map question. If they wish

to attempt map question, the explanatory note will carry

full marks.

����� � ���������	�
�����
�������������������������	�
������	�����

��	��������������
���	� �!��"	�
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��	���%	�
()*+����������,'		����

�	��
�!*����������
�����#�������"���	���%	�
()*-	������

��� ���	� �	���� �#�� �	�� ����� ���� .�	��	���� �/0�1	�� "	��

$		2���� �3��� !��� �	��2��

Compulsory Question �
������� 	����

1. Give short answer of the following :

(a) Define Reformation.

(b) What do you mean by Agriculture Revolution?

�����������	�
���
� ��� ����
�� �������



�����������	�
 	

(c) The Treaty of Neuilly, 1919 A.D.

(d) Rome-Berlin Axis of 1936 A.D.

��(�����	�� ��� 
��4	0�� ��	�� ����� 5

6�7 +�
� 
�+	�� !	*�	���� �	�� ���$		�8	�� ������

6�	7 9�8	� :	�*�� 
�� !	�� ;�	� 
�<��� ��#=

627 *�	#��� ��� 
�*+�  > >� �
?�

6@	7  >AB� �
?� ��� �	��C)��
�� @	3���

UNIT–I ������–I�

2. What do you mean by Renaissance ? Explain its causes and
impacts.

����	
2�1	�
��!	��	�;�	�!'	
��#=��
����	�1		���!	#����$		"	����	

"1	
�� ������

3. What do you understand by the Old Colonial System ?
Describe its development in Europe.

���	���!	#���"���	����1		���
��!	��;�	�
�<����#�=��
�	��3�	��

���� �"�	
��	� "1	
��������

UNIT–II ������–II�

4. Explain critically the effects of Industrial Revolution on
European Society.

!	#&	��2��:	�*������3�	�����
�	������DE����$		"	������!	�	���	���

.�	��	� ������



�����������	�
 �

5. Describe the circumstances leading to the Revolution of 1688
in England. Why is it Called Glorious ?

��F�#�D��������
�2	#�"�31	
�:	�*�����������	��	����	�1		����	�"1	
�

������� �
�� 2	#�"�31	
� ;�	��� ��	� �	�	� �#=

UNIT–III ������–III�

6. Give a critical analyses of the Treaty of Versaille of
1919 AD.

 > >��
?����"
	
�����
�*+��	�!	�	���	����"1	
��������

7. What were the main causes of World War II.

�G���� �"�"� ��H���� ������	�1	� ;�	� '	��

UNIT–IV ������–IV�

8. On the outline map of the Europe, show the important centers
of Reformation. Also write an explanatory note.

�3�	��� ��� ���		��%	� ��� +�

�+	�� !	*�	���� ��� �����	� ��*��	��� �	�

��		
���� ��� .�	��	���� �/0�1	�� $	�� ����	��

9. On the outline map of the Europe, show the Polarization of
the countries before World War I. Also write an explanatory
note.

�3�	���������		��%	������'	���"�"���H�
���3"
����		������+��"���1	

�	�� ��		
���� ��� .�	��	���� �/0�1	�� $	�� ����	��





Roll No. ...................... Total Pages : 3

BAQ/D-20 15062
HISTORY

(East Asia in Modern Times)

Opt. (III)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory. Select one question from each Unit. All

questions carry equal marks. The part relating to

explanatory note on map will carry full marks for visually

handicapped candidates only.
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#	���� ��$	�%	��	
�� �
� ���� "	�� #	� ��&�'�

�()�*	�� �	�
� !		+��
� �,�
� ���� �	
�+
�

��������	
���
�������
������� �����

1. Give short answer of the following :

(a) Significance of the Chinese Revolution of 1911.

(b) Three principles of Dr. Sun Yat Sen.

(c) The factors responsible for the growth of militarism in

Japan.

(d) The cultural change in Japan after Meiji Restoration.

(4×4=16)

��������	��
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1�	2 7	84� ��� �	.� �
�� �
� .��� ��9	6.�

1+2 �	�	�� "
�� ������	�� �
� ���� �
� �	���

1:	2 "
���� ���;%		���	��
� �� 	.� �	�	�� "
�� �	�;<�.�� &��	��

UNIT–I ������–I�

2. Discuss the circumstances leading to the second opium war
in China. What were its effects. 16

 ��� "
�� �=.��� ��>�"� ��9� �
� ���� �
	��	��� ����;%	�.�	
�� �	
�*	��� ������� ���
� ?�	� ��!		�� �7@
�

3. Throw light on the causes and significance of the communist
Revolution of 1949. 16

�3A3� ��� �	-��	��� 5	�6.� �
� �	�*		
�� �� "���� ��� ���	�	
7	����

UNIT–II ������–II�

4. Discuss the political significance of the Meiji Restoration in
Japan. 16

�	�	��"
��"
�������;%		���	��
��	����.��"�
���	��*	���������

5. Why Japan entered in the second world war ? Discuss its
effects on Japan ? 16

�=.��� ����� ��9� "
�� �	�	�� �
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� ���
�	� ���	B
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UNIT–III ������–III�

6. Discuss the Agricultural transformation in Japan from 1868
to 1914. 16

�CDC� �
� �3�A� .�� �	�	�� "
�� <�E	� �
� F�	6.�*	� ���   	�
������

7. Write a historical essay on the cultural revolution in China.
16

 ��� ��� �	�;<�.�� 5	�6.� ��� ��� �
�.�	���� ��&6'� ����	��

UNIT–IV ������–IV�

8. On the outline map of China show, the Route of Long March
in China. Also write an explanatory note. 10, 6

 ����
��
�		G"	�� #	���H� ���"
�� I�	�+�"	 �J��	�"	+����		����
��� K�	��	�"�� �()�*	�� !	�� ����	��

9. On the outline map of Japan show, the important parts
opened for western powers in Japan. Also write an
explanatory note. 10, 6
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BAQ/D-20 15064
SOCIOLOGY

(Population  Society)

Opt. (III)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any four questions, selecting one question from

each unit. Question No. 9 will be compulsory. All

questions carry equal marks.
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UNIT–I �����
–I�

1. What do you understand by Population Studies ? Explain its

scope. 16

��	�������!����
���	��"�	�
�#������$��
�����%	��&	�'	��	

�(	
�� �)���

2. Define Fertility also explain its determinants. 16
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UNIT–II �����
–II�

3. Critically analyse the optimum theory of population. 16

����+������
���	��
,	-���	��	�	���	���������%	(	�������

4. Explain the theory of demografic transition. How far is this

theory superior to other theories. 16

��
���	�
./-*��
�0�(	� �
,	-���)����	�	�1	���������-�

�
,	-�	��� 
�� ��
� ���	)� � 	-�� ��$

UNIT–III �����
–III�

5. Write a detail note on Sex-ratio decline in India. 16

 		)�� ���� 2	3��� ���4� ����	�� �)� ��� ��5�6�� ���	� ���	���

6. Highlight the Educational aspects of Indian population. 16

 		)���� ��
���	� ��� �	�&	�(	�� ���+� �)� ���	�	� 1	����

UNIT–IV �����
–IV�

7. Describe the Socio-Cultural factors affecting family planning

in India. 16

 		)��������)�	)����	�����	���� 		�����)����	���
	�	���7
	�58���

�	)�	��� �	� �(	
���)	��

8. Write a detail note on “National Rural Health Mission”.

16

9)	%3:��� 4�	��(	� 5�	5;�� �	���	<� �)� ��� ��5�6�� ���	� ���	���
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UNIT–V �����
–V�

Compulsory Question �������
� �����

9. Write short notes on the following :

(a) Mortality.

(b) Migration.

(c) Concept of Malthusian theory.

(d) Literacy. (4×4=16)
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BAQ/D-20 15080
HOME SCIENCE

(Human Development)

Paper–II

Time : Two Hours] [Maximum Marks : 27

Note : Attempt three questions in all, selecting  one question

from each unit. All questions carry equal marks.

UNIT–I ( –I )

1. What is Learning? Discuss in detail the factors affecting

learning. (9)

2. Define Intelligence. How is it measured? Describe in

detail. (9)

UNIT–II ( –II )

3. Explain factors affecting the development of Personality

in  detail. (9)

15080/00/KD/6590/Trans. [P.T.O.



4. Discuss the role of parents and teacher in problem solving

of Adolescents. (9)

UNIT–III ( –III )

5. (a) Explain the effects of early marriage.

(b) How would you take care of Diarrhoea during

childhood? Discuss. (6+3=9)

6. What is Weaning? Discuss importance and method of

weaning. (9)

15080/00/KD/6590 2
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BAQ/D-20 15084
POLITICAL SCIENCE

(Public Administration)

Opt.–(ii)

Time : Three Hours] [Maximum Marks : 90

Note : Attempt five questions in all, selecting at least one question

from each Part. All questions carry equal marks.

PART–A ( )

1. Discuss the nature and scope of Public Administration. (18)

2. Critically examine the Decision-Making approach of Public

Administration. (18)

3. What do you understand by ‘New Public Administration’?

Discuss its features and goals. (18)

15084/00/KD/6670 [P.T.O.



4. Critically discuss the Classical Theory of Organization.

Give any four comparison of it with Human Relation

Theory. (18)

PART–B ( )

5. Define ‘Bureaucracy’? Discuss the role of it in Indian

Administration. (18)

6. What do you understand by 'Personnel Administration’?

Discuss Promotion as its major factor. (18)

7. Discuss the Process of preparing the Budget and discuss its

significance in smooth functioning of administration. (18)

8. Discuss the legislative control over Public Administration in

detail. (18)

15084/00/KD/6670 2



15084/00/KD/6670 3 [P.T.O.

PART–C ( )

9. Short Answer Type Questions :

(a) Write a short note on Politics and Administration.

(b) Meaning of Budget.

(c) Write any two methods of Public Administration.

(d) Write a short note on Hierarchy.

(e) Write a short Note on Public Administration in the age

of Globalization.

(f) Briefly discuss Judicial Control over Public

Administration. (6×3=18)

10. Objective Type of Questions :

(i) Who among the following says that public administration

includes the operations of only the executive branch

of government?

(a) L.D. White and Luther Gulick

(b) L.D. White

(c) Luther Gulick

(d) W.F. Willoughby.



15084/00/KD/6670 4

(ii) Who wrote the book ‘Towards A New Public

Administration : The Minnowbrook Perspective'?

(a) Frank Marini

(b) Dwight Waldo

(c) C.J. Charlesworth

(d) J.M. Pfiffner.

(iii) Which one of the following statements is not correct in

respect of New Public Management?

(a) It has market orientation

(b) It has upholds public interest

(c) It advocates managerial autonomy

(d) It focuses on performance appraisal.



(iv) The essay entitled ‘The Science of Public

Administration : Three Problems’ was authored by :

(a) Herbert A. Simon

(b) F.C. Mosher

(c) Dwight Waldo

(d) Robert Dahl.

(v) The classical theory of administration is also known

as the :

(a) Historical theory

(b) Mechanistic theory

(c) Locational theory

(d) Human Relations theory.

15084/00/KD/6670 5 [P.T.O.



(vi) How many principles of organization were propounded

by Henry Fayol?

(a) 10

(b) 14

(c) 5

(d) 9.

(vii) The rule of lapse means :

(a) All appropriations voted by the legislature expire

at the end of the financial year

(b) All pending bills in Parliament lapse with its

prorogation

(c) The demand for grants of a ministry lapse with

criticism of its policy by the opposition

(d) The appropriation bill lapses if it is not returned

by the Rajya Sabha within 14 days.

15084/00/KD/6670 6



(viii) The history of evolution of the Public Administration is

generally divided into :

(a) Three phases

(b) Four phases

(c) Five phases

(d) Six phases.

15084/00/KD/6670 7 [P.T.O.



(ix) Globalization means :

(a) Financial market system is centered in a single

state

(b) The growth of a single unified world market

(c) Geographical location of a firm is of utmost

importance

(d) Foreign capitalist transactions. (9×2=18)

15084/00/KD/6670 8
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GSE/M-21 1401
ENGLISH (Compulsory)

Time : Three Hours] [Maximum Marks : 80

Note : All questions are compulsory.

1. (a) Transcribe any four of the following words :

Servants, Fellow, Warning, Develop, Arms, Change,

Beauty, Hurt. 4

OR

For Blind Candidates Only

Give meanings of any four words :

Curse, Joyous, Glimpse, Moan, Foothill, Negotiate,

Lurk, Swift.

(b) Giye Antonyms of any four of the following words :

Comic, Spring, Crowded, Safe, Dissimilar, Understand,

Novice, Outer. 4

2. (a) Answer any four using a word/phrase or in a sentence :

(i) Name the writer of the story, 'With the

Photographer'.

(ii) What is the message of the story ‘The Child’.

(iii) Who did the blind man lose?

(iv) How much did the Panchlight cost?

������������ 	
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������������ �

(v) Who was Gomti?

(vi) Who was Winnie?

(vii) What kind of a bullock did the peasant buy and

why?

(viii) How did the musicians behave that evening? 4

(b) Answer any six of the following questions in about 50

words each.

(i) Why did the Photographer look very grave?

(ii) How was the peasant cheated by the old Thug?

(iii) What did the peasant do as a Haqim to send the

sons away?

(iv) On what note does the story 'Pigeons at Day

Break' end?

(v) Why was Godhan ostracized?

(vi) When was the faith of Maaji shattered?

(vii) Prior to partition what did Maaji think of Muslims?

(viii) Describe Tinula's experience in the school

infirmary?

(ix) What is your opinion about the dog's behavior?

12

3. Answer any three of the following questions in 150-200

words :

(i) Discuss the relevance of the title "Pigeons at Day Break".



(ii) Draw a character sketch of the peasant in the story

'Bellows for the Bullock'.

(iii) Attempt the character sketch of "The Photographer".

(iv) Describe Tinula's Journey from her boarding school to

her village.

(v) "The Refugee" proves that the men and women are

capable of behaving both as animals and noble human

beings. Discuss.

(vi) What Image of Rural Society is painted in the story

'The Panchlight'? 21

4. (a) Do any twenty as directed :

Identify the types of following sentences in the

following :

(i) Hurrah! We have won the match.

(ii) They will not be spared.

Combine the following sentences to make compound

sentences :

(iii) We loved her. We honoured her.

(iv) He was upset. He completed his work.

(v) My sister is coming to India. My sister lives in

Canada.

(vi) This shirt cannot be mine. It is too large.
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Combine the following sentences with modals :

(vii) ................. I come in, Sir?

(viii) How cloudy it is! There ................. be rain tonight.

(ix) My uncle ................. speak in French.

(x) You ................. run. The train is late by one hour.

Fill in the blanks with correct form of the verb :

(xi) A yogi ................. yoga every day. (practice)

(xii) My servant ................. a week ago. (leave)

(xiii) Don't make a noise. My sister ................. (study)

(xiv) I ................. to see a film yesterday (go)

Change the voice of the following sentences :

(xv) They are building a bridge across the river.

(xvi) The police are looking into the case.

(xvii) He has submitted the assignment.

(xviii) Nobody will laugh at him.

Fill in the blanks with suitable prepositions :

(xix) He comes ................. a noble family.

(xx) His father deals ................. textiles.

(xxi) This table is made ................. steel.

(xxii) He was charged ................. theft.

Punctuate the following sentences :

(xxiii) will you sit here

������������ �



(xxiv) sardar manmohan singh was the prime minister of

india for ten years

(xxv) the young girl cried loudly ma please help me

Make sentences with following words :

(xxvi) Bring out

(xxvii) Give up

(xxviii) Ought to

Add question tag to the following sentences :

(xxix) She is a teacher.

(xxx) He is a slow learner. 20

(b) Fill any seven blanks with appropriate preposition /

articles :

(i) She is junior ................. me.

(ii) ................. water is necessary to live.

(iii) He is ................. European.

(iv) The boy fell ................. the pond.

(v) He is .................  M.A.

(vi) Work hard ................. you should fail.

(vii) ................. peacock is in danger of extinction.

(viii) She is known ................. me.

(ix) There is ................. office in this street.

(x) ................. University. 7
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5. Write an essay in about 200 words on any one of the

following topics :

(a) India of my dreams.

(b) Cleanliness in next to Godliness.

(c) A cultural festival you have organized in your college.

(d) The person you like most. 8
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1. hyT ilKy kvIAW iv`coN iksy iek dy jIvn qy rcnw bwry lyK

ilKo :

(a) AMimRqw pRIqm[

(A) sMqoK isMG DIr[

(e) Avqwr isMG pwS[ (5)

2. iksy do kwiv-tukVIAW dI pRsMg sihq ivAwiKAw kro :

(a) auey! mYN pVHn pVwn swrw C`ifAw

idl myrw Awx vwhIAW iv`c Ku`iBAw

pYlIAW myrIAW ikqwbW hoeIAW

j`t bUq myry Xwr vy[

1409/00/KD/52 [P.T.O.



l`sI dw CMnw idMdy[

bwjry dI rotI

m`Kx dI ipMnI idMdy[

du`D dIAW ktorIAW[

(A) pihlw fMg mdwrIAW, mMqR gey guAwc

dUjy fMg dI l`g geI jxy Kxy nUM lwg

nwgW kIly lok-mUMh bs iPr fMg hI fMg

plo plI pMjwb dy nIly pY gey AMg[

(e) kwmy kulIAW qy mzdUrW,

h`k leI lVdy mnsUrW,

mu`ky v`t ky nwArw lwieAw :

bMd kro Dnvwno-lu`tW AMnHIAW[

(s) AsW qW jobn ru`qy mrnw,

muV jwxw AsW Bry Brwey[

ihzr qyry dI dr pirkAw

Asw qW jobn ru`qy mrnw,

jobn ru`qy jo vI mrdw,

Pu`l bxw jW qwrw (5+5=10)

1409/00/KD/52 2
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3. blvMq gwrgI jW eISvr cMdr nMdw dw pMjwbI iekWgI

ivc sQwn inSicq kro[ (5)

4. ‘ipqw purKI’ jW ‘iek ivcwrI mW’ iekWgI dy ivSy-vsqU

aupr inbMD ilKo[ (10)

5. Awpxy ipqw jI nUM p`qr ilKo ijs iv`c qusIN kynYfw ivc jwky

au~c-ividAw pRwpq krnw cwhuMdy ho[

jW

Awpxy im`qr nUM iek p`qr ilKo ijs ivc qUMhwnUM AMgRyjI

mwiDAm ivc pVHweI krdy smyN Aw rhIAW id`kqW bwry

crcw kro[ (10)

6. hyT iliKAW ds AKwxW nUM vwkW ivc vrqo :

(i) Awp moey jg prlo[

(ii) iek pMQ do kwj[

(iii) hwQI dy dMd Kwx dy hor, ivKwaux dy hor[

(iv) corW dy kp`Vy fWgW dy gz[

(v) fu`lyH byrW dw kuJ nhIN ivgiVAw[

(vi) Qu`k ky c`txw[
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(vii) PsI nUM Btkx dI[

(viii) r`sI sV geI pr vl nw igAw[

(ix) dIvy Q`ly hnyrw[

(x) nO nkd nw qyrw auDwr[

(xi) ku`qy dw ku`qw vYrI[

(xii) h`Q kMgx nUM AwrsI kI[

(xiii) gO Bunwvy jON[

(xiv) iek h`Q nwl qwVI nhIN v`jdI[

(xv) koilAW dI dlwlI iv`c mUMh kwlw[ (10)

7. hyT ilKy ds vwkW nUM SuD krky ilKo[

(i) DIAw prweIAw Dn huMdw hY[

(ii) kukV Aqy kuqy lVdy hn[

(iii) muMfw ny skUtr clwieAw[

(iv) Amrsr isKI dw Durw hY[

(v) nrIdr Sihro AwXw hY[

(vi) kuiVAw kvIqw sunw rhIAW sn[

(vii) dur dy Fol Cuhwvny[



(viii) swFw dPqr sDr bwzwr ivc hY[
(ix) syr jngl vIc rihMdw hY[
(x) AsIN ny mYc KyifAw[
(xi) b`cy ny rotI KwDw[
(xii) kuVIAw gzl gWdy hn[
(xiii) mY AidAwpk huMdw, kwS[
(xiv) auh quhwfy vwlw qoqw hY[ (10)

8. hyT ilKy AMgryzI SbdW iv`coN ds dw pMjwbI rUp ilKo :

Ex officio, For disposal, Held in abeyance initial pay,

Intimation, Notification, Pay scale please expedite,

Probation, Returns, Suspension, Sanction, Service Book,

Refund, Joining Report. (10)

9. AwpxI pwT-pusqk kwiv-nwd ivco hyT id`qy gey pRSnW dy
TIk au~qr cuxo :
(i) jvwn pMjwb dy kivqw dw kvI hY :

(a) BweI vIr isMG
(A) AMimRqw pRIqm
(e) pRo. pUrn isMG

(s) iSv kumwr btwlvI[
1409/00/KD/52 5 [P.T.O.



(ii) kMinAw dwn kivqw dI mUl sur kI hY :

(a) Dwrimk

(A) rh`swqmk

(e) dwn krnw

(s) ivAMgwqmk[

(iii) meI idn dI hoeI Gtnw ik`Qy vwprI?

(a) rUs iv`c

(A) kynYfw iv`c

(e) iSkwgo iv`c

(s) Bwrq iv`c[

(iv) hrBjn isMG rYxU dw sMbMD iks rwj nwl hY?

(a) pMjwb

(A) hirAwxw

(e) au~qr pRdyS

(s) kyrl[

1409/00/KD/52 6



(v) ‘lUxw’ kivqw iks kvI dI rcnw hY?

(a) BweI vIr isMG

(A) AMimRqw pRIqm

(e) iSvkumwr btwlvI

(s) mohn isMG[ (5)

10. pwT pusqk ‘iekWgI bhurMgI’ ivcoN hyT ilKy pRSnW dw TIk
au~qr idau :

(i) AweI.sI. nMdw dy iks qoN nwtk Aqy rMg mMc dI pRyrnw
leI :

(a) blvMq gwrgI

(A) AMimRqw pRIqm

(e) nOrw ircrfz

(s) nwnk isMG[

(ii) pRqwp isMG dy Gr dI brbwdI dw mu`K kwrx kI hY?

(a) &jUlI KrcI

(A) Srwb

(e) jUAw

(s) krzw[

1409/00/KD/52 7 [P.T.O.



(iii) ‘j&r nwmw’ iekWgI dw ivSw kI hY?

(a) smwjk

(A) mnoivigAwnk

(e) ieiqhwsk

(s) imiQhwsk[

(iv) ‘pYqVy bwz’ iekWgI dw mu`K pwqr kox hY?

(a) KMnw

(A) vInw

(e) iqvwVI

(s) gxpq[

(v) ‘quVI vwlw koTw’ iekWgI dw lyKk kox hY?

(a) blvMq gwrgI

(A) sMq isMG syKo

(e) Ajmyr isMG AOlK

(s) AweI.sI. nMdw[ (5)

1409/00/KD/52 8
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1.

(8×2=16)

2.

(i)

(ii)

1411/00/KD/685 [P.T.O.



(iii)

(iv)

(2×5=10)

(1×6=6)

3.

(i)

(ii)

(iii)

(iv)

(2×5=10)

1411/00/KD/685 2



1411/00/KD/685 3

(i)

(ii) (1×6=6)

4.

(1×8=8)

(2×4=8)

5.

(2×4=8)

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii) (2×4=8)
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Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one question

from each unit. Q. No. 1 is compulsory. The part relating

to the explanatory note on map will carry full marks for

visually handicapped candidates only.

����� � ������� ��	�
� ��� ��� ���
� ��
��� ����� ���� 	�
�� ���
	��� ��

��	�� ������� ���
� ����	� ��  �
!	�
� �"�� 
�#	��
� �!$	�%	
�	��

�	��&	
��#	���'�(�� �)*�+	��!	���,		-��	����
������.��� ��

�����	��-��

Compulsory Question �
������� 	����

1. Write the correct answer :

(i) The first ruler of Khilji Dynasty was

(a) Jalaluddin Firoze Khalji

(b) Allauddin Khilji

(c) Mubaraq Shah

(d) Kakubad.

��������������	
��
�� ���� ��� �
��� �������
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/�0 ��	��1�
� ��2�	��� �	���

/�	0  �	31�
� ��	���

/-0 &�'	��� �		�

/4	0 �"��'	��

(ii) Who was the author of ‘Kitab-Ul-Hind’ ?

(a) Alberuni

(b) Kalhan

(c) Abul Fajal

(d) None of the above.

5���	'6��6��7�8� �	� ���	���	"
� %		9

/�0  �'�:
�

/�	0 �;�+	

/-0  '��� �2��

/4	0 ���	�<�� &��� ��� �	��
� 
����

(iii) The first battle of Panipat

(a) 1526 A.D.

(b) 1556 A.D.

(c) 1761 A.D.

(d) 1765 A.D.
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�����	� ���	� ��=

/�0 �>?@� �
A

/�	0 �>>@� �
A

/-0 �B@�� �
A

/4	0 �B@>� �
A�

(iv) Who was the author of ‘Bijak’ ?

(a) Kabir

(b) Ravidaas

(c) Chatanya Mahaparbhu

(d) Meera Bai.

5'���8��	����	���	"
� %		9

/�0 �'��

/�	0 ��!�	�

/-0 �"�7�� &�	��,	�

/4	0 &��	� '	�
�

(v) Banbhatt was the court poet of

(a) Kanishka

(b) Chander Gupta-I

(c) Harsha

(d) Rajinder-I.

������������ � �������
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(vi) The policy of ‘blood and iron’ was started by

(a) Razia Begum

(b) Balban

(c) Ibrahim Lodhi

(d) Illtutmish.

5�<�� �!�� �	"�8���� 
���� ���
�� �	�:���� %	�9
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/4	0 �;����&�	�

(vii) Who was the first women ruler of India ?

(a) Noorjahan

(b) Chand Bibi

(c) Razia Begum

(d) Mumtaj Mahal.
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(viii) The teacher of Kabir was

(a) Ramanand

(b) Namdev

(c) Shankracharya

(d) Guru Nanak Dev Ji.

�'������ -�F� %	�
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UNIT–I ������–I�

2. Who was Hieun-Tsang ? What does he tell about political,

social and religious condition of Harsha's reign ? Explain.

16

������������ � �������
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3. Describe the Village Government of Cholas. 16

�	��	������ -�	J�� ���		�
��	�!+	

�������

UNIT–II ������–II�

4. What was the ‘blood and iron’ policy of Balban ? 16

'�'
���� 5�<�� �!�� �	"�8� ��� 
���� <�	� %	�9

5. What were the causes of the downfull of Delhi Sultanate ?

Discuss. 16

��;��� �;�
����� ��
���� <�	� �	�+	� %	�9� ��	
� �����

UNIT–III ������–III�

6. Throw light on the development of agriculture, industry and

trade of India during sultanate period. 16

�;�
���	��&��� ,		������K�D	�� �$	�-� 	"�� I�	�	����� �!�	�

��� ���	�	� L	����

7. Write a note on Bhakti movement. 16

,	�<��  	7�	��
� ��� ��� 
	�)� ����	��

������������ �



UNIT–IV ������–IV�

8. On the outline map of India, show the extent of Ala-ud-din

Khilji's empire. Also write an explanatory note. 10,6

,		��� ��� ���		����� &	
��#	� ���  �	�1�
� ��	���� ��� �	&�	M�

�!H�	�� �	�� ��		
��� �%		� ��� I�	��	�&�� �)*�+	�� ,	�� ���	���

9. On the outline map of India, show the extent of Muhammad

Tughlaq's empire. Also write an explanatory note. 10,6

,		��� ��� ���		����� &	
��#	� ��� &��J&�� ��-��� ��� �	&�	M�

�!H�	�� �	�� ��		
��� �%		� ��� I�	��	�&�� �)*�+	�� ,	�� ����	��
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Note : Attempt five questions in all. Question No. 1 and 2 are

compulsory. Attempt remaining three questions selecting

one question each from any of the three unit out of the

four unit. All questions carry equal marks.

����� � ���� ���	� ����	
�� �
� �
	�� ������� ����� ����	� �� �	��� �

����	��� ����� �	
�	�  �������	
���
��
	�����!"��#	�� "�	"��	
�� $
�

�
� ��%����  ��� "�	"�	
�� �
� ��&���������	�#���������

�'	�� ����	
�� �
� ���� �$	�� ����

1. There is only one Barber shop in a town which gives hair

cuts to adults at Rs. 50 each and kids at Rs. 20 each on the

basis of this answer the following questions :

(a) What concept of market is discussed in above case ?

Explain it.

(b) Explain the degree of price and output determination.

(c) Make a diagram to discuss the equilibrium under this

market.

������������	 
��
���



������������	 	

(d) Explain the reasons for existence of such market forms.

(4×4=16)
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�������+�!

�
� ,-� ./� ��� � �
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 �� ��� ��+�!

�-� ./� ��� � �
� ���	)� �
� (���	�� �� 	� ���� "�� �	1	�� ��

��2�����	 � ����	
�� �
� �
	�� ����� 3

4�5 ���	
6 ��7����$
��)	�	���
� ����8�����##	�����!"�

��9� �:	��� ������

4�	5 ��$ �  0		� �;�	��� ��1	��:	� ��� <
�:	�	
�� $
�� ##	�� ��
��

4!5 "�� ���	
�	 	��
��	1	����� �
�		�#=	������	� 	��
�)	�	�

$
�� �� �����	� ��1	��:	� ������

4>	5 "�� ���	���
� )	�	���
�8���
� �	���	�
��
��	�:		
�� ��

##	����
��

2. (a) Choose correct answer.

���� ���?�� #�����

(i) Conditions of equilibrium of firm

�@$�� �
� �� ������� �(0	� 

(a) MC = MR

(b) Slope of MC > slope of MR

(c) Both (a) and (b)

(d) None of the above.



������������	 � 
��
���

(ii) In SR, a firm may earn.

(a) Normal profit

(b) Losses

(c) Abnormal profit

(d) All the above.

�?��	�� $
�� ��	�1�	����	
� ��	A � �	
 	� ��

4�5 �	$	%�� �	'	

4�	5 �	��

4!5 ��	$	%�� �	'	

4>	5 ���	
6 � �'	��

(iii) Who said that price is unstable in duopoly ?

(a) Cournot

(b) Paul Sweezy

(c) Edgeworth

(d) None of the above.

BB��$ � C�C	�1�	�� $
�� ��(0	�� �� �� ���DD� ��� ����
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�
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� �	
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(iv) VMP and MRP are different when

VMP� ��MRP� $
��  )��� �� �	
 	� ��� �)

(a) AR and MR different

(b) AR and MR equal

(c) AR and AC different

(d) AR and AC equal.

(v) Loanable fund includes

(a) Investment

(b) Hoarding

(c) Consumption

(d) All the above. (1×5=5)

G:	�	
H���	
�	���� $	�!� $
�� �		�$�� ��

4�5 ���
�	

4�	5 ��#�

4!5 ��'		
!

4>	5 ���	
6 � �'	��



(b) Match the following :

(a) Normal Profit 1. Price leader

(b) Absence of Supply Curve 2. Wage difference

(c) Leader Firm 3. Short-run concept

(d) Market Imperfections 4. Short-run

(e) Quasi rent 5. Monopoly

(1×5=5)

��2���	� �$�	����
� 3

(a) �	$	%�� �	'	 1. ��$ � �
�		

(b) �E� �� �I��	� �	'		� 2. $��E���$
���� ���	

�	�:	

(c) ��1	�� �@$� 3. �?��	���� 1	�:		

(d) )	�	�������E:	� 	�� 4. �?��	�

(e) �	'		�� �!	� 5. ��	�1�	�

(c) Define the following :

(i) What is meant by selling costs.

(ii) Define Marginal Productivity Theory.

(iii) What is Price Rigidity ? (2×3=6)

��2����� ���'		�		� �
� 3
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� 6�	� ��'	��	�� ��9

4�	5 ��$	% � �;�	�� 	� ��J	% � ��� ���'		�		� ������

4!5 ��$ � �KLM 	� 6�	� ��9
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UNIT–I 
����
–I�

3. Explain the importance of time element in determination of
price under perfect competition. 16

�E:	�� ��� �	
�! 	� �
� �� !� � ��$ � ��1	��:	� $
�� �$��  
�� �

$�;�� ��� *�	��	� ������

4. Explain the SR and LR equilibrium of firm under perfect
competition. 16

SR���LR�$
���E:	����� �	
!���@$���
��� �������*�	��	�������

UNIT–II 
����
–II�

5. Compare price and output determination under monopoly
and perfect competition. 16

��	�1�	�� 0		� �E:	�� ��� �	
�! 	�$
�� �@$�������$ � 0		��;�	��
��� � ���  ���	� ������

6. Explain price and output determination of firm in monopoly.
16

��	�1�	�� $
�� �@$�� ��� ��$ �  0		� �;�	�� ��1	��:	� ��� *�	��	
������

UNIT–III 
����
–III�

7. What is monopolistic competition ? Explain price
determination under it. 16

��	�1�	��� ��� �	
�! 	� 6�	� ��9� "�$
����$ ����
� ��1	��� � �	
 �
��9

������������	 �



8. Explain the Edgeworth's model of oligopoly. 16

�?�	�1�	�� �
� �
��0	�� $	FN����� *�	��	� ������

UNIT–IV 
����
–IV�

9. Explain how factor pricing is determined under imperfect

competition. 16

��E:	�� ��� �	
�! 	� $
�� �	1����$ � ��1	��:	� ��� *�	��	� ������

10. Critically examine the marginal productivity theory for

determination of wages. 16

$��E����
���1	��:	��
���$	% ��;�	�� 	���J	% ��	��	�	
#�	;$�

���O	:	� ������
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GSE/M-21 1422
HEALTH AND  PHYSICAL  EDUCATION

Time : Three Hours] [Maximum Marks : 60

Note : Attempt five questions in all, selecting one question from
each unit. Unit-V is compulsory.

����� � ������� ��	�
� ��� ��� ���
� �	� ��
� ����� ����� ���� 	�
�
���
	��� �	� ��	�� ������� ��	�
��� ��
 	�
� �!�

UNIT–I �
��
�–I�

1. Define Health Education. What are the objectives of Health
Education ? Explain. 10

" 	"#�� ��	$		� �	�� ���%		�&	�� ������� " 	"#�� ��	$		� ��� �'���
(�	� �!�)�  *	

� �����

2. Define First Aid. Name the articles used in a first aid box
and also explain the use of these articles. 10

��	#	�+�� ���	�� �	�� ���%		�&	�� ������� ��	#	�+�� ���	�� ,	-(�
��� ���� �.���  "���	��� ��� 
	+� ���/	�� �#		� �
�  "���	��� ��
���	�0� �	�  *	

� ������

UNIT–II �
��
�–II�

3. Write down the steps taken by the Indian Govt. for the
development of physical education and sports in India after
1947.

1234����,	��%		������	�����5	�	� %		���+��� �		������ ��	$		� 
/	��	��� ��� � �	����� ���� �6	�� 0����+	��� �	�  *	

�������

�����������	 
��
���
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4. Write notes on the following :

(a) Functions of NSNIS.

(b) Role of IOA in the promotion of sports.

�
7
���/	�� ��� 
	�8� ���/	� 9

:�; NSNIS ��� �	�
�

:/	; /	������ � �	�� +��� IOA���� %	<�+�	�

UNIT–III �
��
�–III�

5. What do you mean by physical fitness ? What are the various

components of physical fitness. 10

�		������ ���&8� ��� �	�� (�	� �+=��� �!�)� �		������ ���&8� ��

� �%	>
� ?	8�	��� �	�  *	

� ������

6. Write notes on the following :

(a) Types of Endurance and methods to improve it.

(b) Types of speed and methods to improve it. (5×2=10)

�
7
� ��� 
	�8� ���/	� 9

:�; ��
�	�(�� ��� ���	��  � ���	�� ,@A	
�� ��� ��	��

:/	; 0��� ��� ���	��  � ���	�� ,@A	
�� ��� ��	��

UNIT–IV �
��
�–IV�

7. What is Bone ? Explain the types of bones. 10



�����������	 � 
��
���

�BCB�� (�	� �!)� ��BCB�	��� ��� ���	�� �	�  *	

� ������

8. Explain the Ball and Socket joint and location of these joints
in human body. Explain the possible movements in these
joints. 10

Ball and socket joint� ������+	
 ��	����+����"#	����	� *	


������� �
� �	�BA	��� +��� ��%		� �� 0���	��� �	�  *	

�������

UNIT–V �
��
�–V�

��������	
���
��������������� 	����

9. Answer all questions :

(a) What is Health ?

(b) When and where was the term ‘First-Aid’ adopted first
time ?

(c) What is Self-Aid ?

(d) When and where was I.O.C. Formed ?

(e) When and where Modern Olympic Games Started ?

(f) What do you know about Maximum Heart Rate ?

(g) What is Static Stretching ?

(h) What is axial skeleton ?

(i) Why Synovial Joints are called so ?

(j) What is Hinge Joint ?

�%	�� ���
	��� ��� ��	�� ����� 9

:�; " 	"#�� (�	� �!)
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GSE/M-21 1423
MUSIC (Vocal)

Paper–I (Theory)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all selecting at least one question

from each unit. All questions carry equal marks.

����� � ���������	�
������
��
������������	���������� ����

����	�
������	��������	���������� 	������	������!�����	�

�"��

UNIT–I �
��
�–I�

1. Write the notation of Raag Hamir in Drut Khayal with two

Alap and two Tans.

�	#��������������$�	����� %&�������	��!	�	��!	"�� �	�� �	�	��

����� ���$	��

2. Write the detailed description of Raag Kaafi.

�	#��	�'(�� �	� �)*	
� ������ �&%�	�� ��� ��$	���

3. Write down the notation Slow Khayal (Vilambit Khayal) in

any Raag Prescribed in your syllabus.

!���� �	+,�-�� ���� ��� �����  	�� �	#� ��� �&��./�� $�	�

0/1'	� $�	�2� ��� %&������ ��$	���

������������ 	
���
�



������������ �

UNIT–II �
��
�–II�

4. Write short notes on the following :

(a) Parmel Parveshak Raag.

(b) Alankar.

(c) Varan.

(d) Tarana.

��.����$	�� ��� ���3	4�� �54��*	�	6� ��$	�� 7

0�2 ������� ���&��	�� �	#�

0$	2 !���	��

0#2 &*	
�

08	2 ��	�	�

5. Write in detail about Gayakon Ke Gun-Dosh.

#	��	��� ��� #�*	
�	�9	���� �&%�	��)&
�� :�	$�	������

6. Write down the difference between Margi and Deshi Sangeet.

�	#	�
� �&�� ���	�� ��#��� ���� ;�	� !<��� �"=� �&%�	�� ��� ��$	���

UNIT–III �
��
�–III�

7. Write in detail about Jhaptaal with Dugun layakaries.

>��	�� ��� �&%�	��)&
�� ��	
� ����� ����� ��#��� ���	��� ����

��$	���



������������ �

8. Write in detail about the role of music in National Integration.

�	95?��� ���	� ���� ��#������  	)���	���� �&%�	��)&
�� ��	
� �����

9. Write the lite-sketch and Contribution towards music of

Pandit Om Karnath Thakur.

���1'��!	���	��	@	� +	�����	���&�� ������!	"����#������ ����

����� �	�#�	����� /	��� ���� ��	
� �����

10. Write the life-sketch and contribution towards music of Ustad

Abdul Karim Khan.

!A���������$		6��	���&�
�������&���������#��������	�#�	�

��� ��	
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GSE/M-21 1424
MUSIC (INSTRUMENTAL)

(SITAR)
Paper–I (Theory)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one question
from each section. All questions carry equal marks.

����� � ������� �	
�� ��
� ��� ��������� ��� ����� �	� ���� ����
����� ���� 	�
�� ����	�
� ��� ��	�� ����� � �!	�� ����	�
� ��� "
�
��	�� �#
 

SECTION-A �
������

1. Write one Raza Khani Gat in any Raga of your syllabus
with two toras. 8

"���� �	$%�&�� ��
� ��� ����� !	�� ��� �	'� ��� �(		�		��� '�� �	�
�	��)	�
� ����� ����	� 

2. Write one Maseet Khani Gat in any Raga of your syllabus
with two toras. 8

"�����	$%�&����
���� �����!	������	'���������		���'���	�
�	��)	�
� ����� ����	� 

3. Write the detailed description of Rag Vrindavani-Sarang and
Rag Kafi. 8

�	'�*+,-�	+����	�
'.��/		��	'�*�	�0�.��	��1�2
	3�����������	� 

������������ 	
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������������ �

SECTION-B �
����
��

4. Define any two of the following :

(a) Vadi.

(b) Sam.

(c) Samvadi.

(d) Tali. (4+4)

��1�����	�� ��
� ��� ��-��
� ������� ���!		4		� ����	� 5

6�7 +	�� 

6�	7 �� 

6'7 �1+	�� 

68	7 �	�� 

5. Write in detail about Anavadi, Vivadi, Meend and Soot. 8

"��+	�����++	������
���+
��2������+4	����
��+9�	��2+3������	� 

6. Explain about the classification of Indian musical

instruments. 8

!		����� �
'��� +	:�
;		�
� ��� +'�3��
	� ��� <�	��	� ����� 

7. Discuss in detail about Time Theory of Indian Classical

Music. 8

!		������		9;	����
'������*������=	-�.�����+9�	��2+3����	3

����� 
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SECTION-C �
������

8. What is the importance of Media in developing Indian
Classical Music ? Discuss. 8

!		����� �		9;	��� �
'��� ��� �+�	�� ��
� ���	���	>��	�
� �	� ?�	
���+� �#@� ��	3� ����� 

9. What do you know about the merits and demerits of Sitar
Players ? Describe. 8

���	��+	��	�
����'�
	��/		��	�4		�
�����+4	����
�"	��?�	��	�����#
@
+
	3�� ����� 

10. Write down the Theka of Tol ‘Jhaptal’ with dugun Layakary.
8

�	�� *A��	�.� �	� $��	� ��'��� ���	��� ����� ����	� 
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GSE/M-21 1435
OFFICE MANAGEMENT

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal

marks.

����� � ����������	��	
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���
�������������������	
��
���
���������

���

1. What is meant by Filing ? What are the characteristics of an

efficient filing system ? Also explain its importance. 16

���������� �
� � �� �����	� � ��!� ����"
��� ���������� �	#�������

� �� �$
�
%�&��'� ���!� ���
� �����
�� ��� ���� ( �) ����
��

2. Write a detailed note  on ‘Retention’ and ‘Weeding Out’ of

office records. 16

�� ��� � ����*�� �
� �$+��#�,��-�

��� ����� ������,$�*���� ����-

��� ��� �$.&/&� ��
-� ��)�
��

3. What do you understand by Training of Office Staff ?

Explain various methods of training. 16

�� ��� � �
� ���0��� �
�� �
� �	�
�1�#�� �
� ���� � �� ��2&
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������������ �

4. What do you mean by Motivation ? Explain various

incentines given to subordinates for their motivation. 16

�����	
�#�,�	�
3����� �
� ������ � �� �����	� � ��!� �+��.4��
�� ��
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�#�� �
� ���� ���� ���
� $��
� �$������ �	�
3�����
�� ��

( �) �� ��
��

5. What do you understand by planning and scheduling of

office work ? Explain its importance. 16

��������
��������5������,�� �
��������
�
* 6����,�� ���7����#�

�
� ���� � �� ��2&
� ���!� ����� ���$� ��2��'�

6. What do you mean by office automation ? What factors must

be taken into consideration while selecting office appliances ?

16

�� ��� � �
� .$0���,��-�
�

��� �
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�

�)��� ����� 0����!� ( �) ��������

7. What do you mean by office forms ? Explain its types.

Explain various factors affecting designing the forms. 16

������� ������ �
� ������ � �� �����	� � ��!� ������� ������ �
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8. Write note on the following :

(a) Office Computer. 8

(b) Photocopier. 8

��8����)�&� ��� ��
-� ��)�
� 9

:�; �� ��� � ��5 6-��

:)�; ���
-�
��<�� ��

9. What do you mean by mail ? What routine you would

suggest to handle outgoing mail in an office ? 16

�
���
�������� �������	� ���!����=�������
�$�����
����
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�

10. Explain various forms of correspondence in a government

office. 16
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GSE/M-21 1444
POLITICAL SCIENCE

(Indian Politics)

Paper–II

Opt. I

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions.

1. What is the nature of Indian federalism? (16)

2. What do you know about state autonomy? Define. (16)

3. Write a note on voting behaviour in India. (16)

4. Define the features of Indian Party System. (16)

5. Write a note on Election Commission of India. (16)

1444/00/KD/688 [P.T.O.



6. What do you mean by Politics of Defection? (16)

7. How the impact of caste in Indian Politics? (16)

8. Critically define the defects in Indian Electoral System?

(16)

9. Objective type (Multiple Choice) :

(i) How many states in India?

(a) 22

(b) 25

(c) 28

(d) 29.

(ii) Adult in India

(a) 18 years

(b) 21 years

(c) 25 years

(d) 35 years.

1444/00/KD/688 2



1444/00/KD/688 3 [P.T.O.

(iii) Nomination in Lok Sabha by President?

(a) 1

(b) 2

(c) 3

(d) 4.

(iv) Term of the member of Lok Sabha

(a) 4 years

(b) 5 years

(c) 6 years

(d) 10 years.



1444/00/KD/688 4

(v) Who said I am in favour of strong centre?

(a) Pt. Nehru

(b) Dr. Ambedkar

(c) Mahatma Gandhi

(d) Sardar Patel.

(vi) How many members in Sarkaria Commission?

(a) 3

(b) 4

(c) 5

(d) 6.

(vii) How many Union Territories in India?

(a) 6

(b) 7

(c) 9

(d) 12.



(viii) Article 370 related with

(a) Haryana

(b) Delhi

(c) Jammu Kashmir

(d) Punjab. (8×2=16)

1444/00/KD/688 5
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 GSQ/M-21 1671

ENGLISH

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : All questions are compulsory.

1. Explain with reference to the context any one of

the given two extracts : 10

Thou know’st that all my fortunes are at sea.

Neither have I money nor commodity

To raise a present sum. Therefore, go forth,

Try what my credit can in Venice do...

Or

The quality of mercy is not strained ;

It droppeth as the gentle rain from heaven

Upon the place beneath. It is twice blest ;

It blesseth him that gives and him that takes :

‘Tis mightiest in the mightiest ; it becomes

The throned monarch better than his crown.



1671/K/1 2

2. Explain any two of the given dramatic terms :

(i) Melodrama

(ii) Comedy

(iii) Character

(iv) Stagecraft. 2½×2=5

3. Answer any three questions in about 30 words each :

(i) Why didn’t Antonio lend Money to his friend

Bassanio?

(ii) Write a note on Gratiano’s wisdom.

(iii) How does Portia turn the tables on Shylock?

(iv) Shylock is a cunning and revengeful person.

Explain why?

(v) Who is Jessica? 5×3=15

4. Answer any two questions in about 250 words each :

(i) Comment on the trial scene in the Merchant of

Venice.

(ii) Write your opinion about Shylock as presented

in the play.

(iii) Draw a character sketch of Bassanio. 7½×2=15



5. Write one of the given official/business letters.

Write an application for the post of an English teacher

in a School

Or

Write a letter to the General Manager, Roadways to

make a halt of the bus near your college. 10

6. Write a précis of the following passage and assign a

suitable title : 10

COVID–19 has changed our personal and public life

in a way that we had never imagined. The impact of

the pandemic is huge and every aspect of human

life is under deep stress throughout the World. Today,

we are mostly stuck in our homes because of the

COVID–19 pandemic, communicating with friends

and co-activists online. We are unable to attend

Offices, Schools and Colleges, gather in crowds and

travel freely. But sitting at home and studying while

seeing all death and suffering caused by the economic

situation is really depressing. Actually, the virus is

not only attacking our physical health, it is also

increasing psychological suffering. A proper mental

health enables us to lead rich and fulfilling lives

1671/K/1 3 P. T. O.



and to participate fully in our communities. Even

without the pandemic, it is estimated that one in

six of us generally suffer a mental health issue during

our lifetimes. We are witnessing the loss of loved

ones, anxiety at the loss of jobs, isolation and

restrictions on movement, uncertainty and fear for

the future. Newspapers editorials tell us daily that

in future there will be a clear line of break, pre- and

post-COVID-19 world order. In Indian context, after

initial success in stopping the spread of this deadly

virus, glaring scenes of human suffering of migrant

labours have shocked us all. In order to utilize

opportunities of a new world order, Indian policy

makers need to focus on the well-being of labour

class and peasantry. The present situation might

seem hopeless and society might never be same, but

that should not stop us from working toward a better

future for everyone. We have to start working for

this better future right now during the crisis.

7. Write one-word substitution of any eight expressions

out of ten : 8

(i) Not to be seen with human eyes.

(ii) The practice of marrying two wives.

1671/K/1 4



(iii) Anything through which we cannot see.

(iv) One who has all the knowledge.

(v) Someone who is shy, quiet and unable to make

friends easily.

(vi) A word or custom which was used in old times.

(vii) A medicine which can cure all diseases.

(viii) A speech delivered without preparation.

(ix) Something likely to cause death.

(x) A man who is unmarried.

8. Write a short note on anyone of the following :

You are a volunteer of NSS. Write an email to your

teacher/coordinator of NSS giving details of your

Social work in your Village.

Or

Write an RTI application to get information about

how many blood donation camps have been organized

by District Red Cross Society during the year

2018-19. 7

1671/K/1 5
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GSQ/M-21 1675

fgUnh (vfuok;Z)

Time Allowed : 3 Hours] [Maximum Marks : 80

uksV% lHkh iz'u vfuok;Z gSaA

1- fuEufyf[kr vorj.kksa esa ls fdUgha nks dh lizlax O;k[;k dhft,% 7×2=14

(d) ;q¼ ds vfrfjDr lalkj esa vkSj Hkh ,sls fodV dke gksrs gSa ftuesa ?kksj
'kkjhfjd d"V lguk iM+rk gS vkSj izk.k&gkfu rd dh laHkkouk jgrh gSA
vuqlaèkku ds fy, rq"kkj&ef.Mr vHkzHksnh vxE; ioZrksa dh p<+kbZ] /zqons'k
;k lgkjk ds jsfxLrku dk liQj] Øwj ccZj tkfr;ksa ds chp vKkr ?kksj
taxyksa esa izos'k bR;kfn Hkh iwjh ohjrk vkSj ijkØe ds deZ gSaA buesa  ftl
vkuUniw.kZ rRijrk ds lkFk yksx izo`Ùk gq, gSa og Hkh mRlkg gh gSA

([k) fxygfj;ksa ds thou dh vof/ nks o"kZ ls vfèkd ugha gksrh] vr% fxYYkw
dh thou&;k=kk dk vUr vk gh x;kA fnuHkj mlus u dqN [kk;k] u ckgj
x;kA jkr esa vUr dh ;kruk esa Hkh og vius >wys ls mrjdj esjs fcLrj
ij vk;k vkSj BaM+s iatksa ls esjh ogh m¡xyh idM+dj gkFk ls fpid x;k]
ftls mlus vius cpiu dh ej.kklUu fLFkfr esa idM+k FkkA

(x) ^^jke dk fuokZlu oLrqr% lhrk dk nqgjk fuokZlu gSA jkr rks ykSVdj jktk
gksrs gSa] ij jkuh gksrs gh lhrk jktk jke }kjk ou esa fuokZflr dj nh
tkrh gSA jke ds lkFk y{e.k gS] lhrk gS] lhrk oU; i'kqvksa ls f?kjh gqbZ
fotu esa lksprh gSµizlo dh ihM+k gks jgh gS] dkSu bl csyk esa lgkjk
nsxk] dkSu izlo ds le; izdk'k fn[kyk;sxk] dkSu eq>s laHkkysxk] dkSu tUe
ds xhr xk;sxk\**

(?k) njckfj;ksa us dgkµ ^^egkjkt] ;g ;kstuk D;k gS] ,d eqlhcr gSA mlds
vuqlkj fdrus myV&iQsj djus iM+saxsA fdruh ijs'kkuh gksxhA lkjh O;oLFkk
myV&iyV gks tk,xhA tks pyk vk jgk gS] mls cnyus ls ubZ&ubZ
dfBukbZ;k¡ iSnk gks ldrh gSaA gesa rks dksbZ ,slh rjdhc pkfg, ftlls fcuk
dqN myV&iQsj fd, Hkz"Vkpkj feV tk,A
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2- vkpk;Z gtkjh izlkn f}osnh dh fuca/ dyk ij izdk'k Mkfy,A

vFkok

gfj'kadj ijlkbZ dh O;aX; jpuk dh Hkk"kk vkSj 'kSyh dks Li"V dhft,A 10

3- fuEufyf[kr iz'uksa esa ls fdUgha pkj iz'uksa ds mÙkj nhft,% 4×4=16

(i) ^vk'kk dk var* fucU/ dk mís'; Li"V dhft,A

(ii) nsonk# o`{k dh fo'ks"krk,¡ Li"V dhft,A

(iii) ^eqdV Hkhxus* dk izrhdkFkZ D;k gS\

(iv) njckfj;ksa dks Hkz"Vkpkj D;ksa fn[kkbZ ugha nsrk Fkk\ mUgksaus bldk D;k dkj.k crk;k
gS\

(v) ;yeksa yksx dkSu gS\ ys[kd us mudh D;k lkaLÑfrd fo'ks"krk crkbZ gS\

(vi) fo"k;karj ls izkIr vkuUn dh ys[kd us D;k fo'ks"krk crkbZ gS\

4- gfj;k.koh Hkk"kk ds mn~Hko vkSj fodkl ij izdk'k Mkfy,A

vFkok

gfj;k.koh miU;kl lkfgR; dh fodkl ;k=kk ij izdk'k Mkfy,A 10

5- fuEufyf[kr esa ls fdUgha nks y?kwÙkjh; iz'uksa ds mÙkj nhft,% 5×2=10

(i) ^gfj;k.koh* Hkk"kk ds ukedj.k ij laf{kIr fVIi.kh fyf[k,A

(ii) gfj;k.koh dh dkSjoh cksyh dk ifjp; nhft,A

(iii) ^lkax* ,d vn~Hkqr dyk gSµbl dFku dks Li"V dhft,A

(iv) dfo lk/qjke dk lkfgfR;d ifjp; nhft,A

6- fuEufyf[kr esa ls fdUgha nks y?kwÙkjh; iz'uksa ds mÙkj nhft,% 5×2=10

(i) i=kdkfjrk dk {ks=k Li"V dhft,A

(ii) 'kh"kZd dh lajpuk dk vfHkizk; Li"V dhft,A

(iii) iQhpj ds mís'; ij izdk'k Mkfy,A

(iv) Hkkjr esa izsl dh orZeku fLFkfr dh foospuk dhft,A

7- lHkh oLrqfu"B iz'uksa ds mÙkj nhft,% 1×10=10

(i) fdlds vuqlkj Hkkjr ued dh egk[kkuh gS\



(ii) ^fxYyw* laLej.k ysf[kdk dh fdl iqLrd esa ladfyr gS\

(iii) Nan dh vkRek D;k gS\

(iv) gfj'kadj ijlkbZ th ds nks fuca/&laxzgksa ds uke fyf[k,A

(v) dkSjoh dk vU; uke D;k gS\

(vi) fdls lkaxks dk firkeg dgk tkrk gS\

(vii) lar furkuan dk ewy uke D;k Fkk\

(viii) fgUnh ds izFke&i=k mnar ekr±M dk izdk'ku fdl o"kZ gqvk Fkk\

(ix) lekpkji=k dk izos'k }kj fdls ekuk tkrk gS\

(x) iQhpj ds dksbZ nks xq.k crkb,A

1675/K/5 3
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Roll No. ......................... Total Pages : 7

GSQ/M-21 1676

HINDI (Elective)

Time Allowed : 3 Hours] [Maximum Marks : 80

uksV% lHkh iz'u vfuok;Z gSaA

[k.M&d

1- fuEufyf[kr pkj x|ka'kksa esa ls fdUgha nks dh lizlax O;k[;k

dhft,% 6,6

(d) jktuhfrd fLFkfr vc rks lnk ,slh gh jgsxh egar

th! 'ksj [kka vk;s pkgs phrk [kkaA oLrqr% /eZ ls

/eZ ugha yM+ jgk gS] ;g ckr fl¼ gS fd ugha

rks iBku Hkyk eqxyksa ls yM+rs\ jke th dkynfèk

eFkdj ekuo&eu dk ek[ku fudky jgs gSaA

([k) ml fnu rqylh dks ,slk yxk tSls muds eu dk

eSy dV x;k gSA eu dh lkjh Fkdu feV xbZ gSA

,slk yx jgk gS fd tSls ,d jE; fdUrq dfBu

;k=kk ds ckn os ugk /ksdj paxs gks x, gksa\
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eksfguh eu esa Vhl dh rjg lrr~ fo|eku Fkh]

fdUrq jke dh ;kn os liz;Ru c<+k jgs FksA

(x) ugha firk th esjk eu dgrk gS fd dqN fnuks a

eq>s ;gk¡ ls Vy tkuk pkfg,A jke th ds ?kj

es a bZ";kZ&}s"kkfn dh vkaf/;k¡ mBkuk mfpr ugha

gSA 'kadj th fo"koknh gS aA ogk¡ dfo;ks a vkSj

iafMrks a dh vkokt cM+k gksus ds dkj.k dnkfpr

eq>s ,slh fuEu dksfV dh bZ";kZ&}s"k dk lkeuk

u djuk iM+ sA eS a dy Hkk sj gjs gh dk'kh pyk

tkÅ¡xkA

(?k) tue ds lkFkh ds'k x,] u;u T;ksfr Hkh >h.k

gks xbZ] fdUrq jke&jke jVus okys lar ds ân;

ls VksMj ds ifjokj ds izfr eeRo Hkkouk yksi

u gks ldhA VksMj dh vuqifLFkfr es a os mudh

ns[kHkky djus es a lnk ltx jgsA jke ds izfr

Hkh mudk eeRo fnuks afnu c<+rk gh x;kA vk;q

c<+rh gh xbZA dk'kh ds okjkg {ks=k x,A ogk¡

ls jktkiqjA jRukoyh dk vafre {k.k lkSHkkX;iw.k Z

cuk;k vkSj mlds ckn tc os ykSVdj dk'kh

vk, gS a ckck dk LokLF; fnuks a fnu Nhtrk gh

tkrk gSA



2- fuEufyf[kr nks vkykspukRed iz'uksa esa ls ,d dk mÙkj

nhft,% 7

(d) ^ekul dk gal* miU;kl ds dFkkuk;d rqylhnkl

dh pkfjf=kd fo'ks"krkvksa dk ifjp; nhft,A

([k) Li"V dhft, fd ^ekul dk gal* esa iqjko`r o

dYiuk dk mfpr fuokZg gqvk gSA

3- fuEufyf[kr pkj y?kwÙkjh; iz'uksa esa ls fdUgha nks dk mÙkj

nhft,% 3,3

(d) ukxj th ds miU;klksa ds dFkkud ij izdk'k Mkfy,A

([k) ujgfj nkl dh pkfjf=kd fo'ks"kvksa ij fVIi.kh dhft,A

(x) ^ekul dk gal* miU;kl esa fpf=kr /k£ed okrkoj.k

dk ifjp; nhft,A

(?k) VksMj dh pkfjf=kd fo'ks"krkvksa ij izdk'k Mkfy,A

[k.M&[k

4- fuEufyf[kr pkj x|ka'kksa esa ls fdUgha nks dh lizlax O;k[;k

dhft,% 6,6

(d) johUnz ukFk us bl Hkkjro"kZ dks ^egkekuo leqnz*

dgk gSA fofp=k ns'k gS ;g! vlqj vk,] 'kd vk,]

1676/K/437 3 P. T. O.
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gw.k vk,] ukx vk,] ;{k vk,] xU/oZ vk, & u

tkus fdruh ekuo tkfr;k¡ ;gk¡ vkbZ vkSj vkt ds

Hkkjro"kZ dks cukus esa viuk gkFk yxk xbZA ftls

ge fgUnw jhfr&uhfr dgrs gSa] og vusd vFkZ vkSj

vk;sZÙkj miknkuksa dk vn~Hkqr feJ.k gSA

([k) os lcls igys gkFk&eq¡g /ksrh gSa fiQj ikuh esa dqN

?kqldj ?kM+k Hkj ysrh gSa rc ?kM+k fdukjs j[ks] flj

ij baMqjh Bhd djrh gqbZ esjh vksj ns[kdj dHkh

efyu] dHkh mtyh] dHkh nq%[k dh O;Fkk&Hkjh

dHkh lq[k dh dFkkHkjh eqLdku ls eqLdjk nsrh gSA

vius esjs chp dk vUrj mUgsa Kkr gS] rHkh

dnkfpr~ os bl eqLdku ds lsrq ls mldk okj&ikj

tksM+uk ugha HkwyrhA

(x) /we/ke ls 'kknh dhA yM+dh viuh lqljky ls

ykSVh rks vUuiw.kkZ dk Hkkst Hkh gqvkA 'kke dks

firk th us fiQj FkSyh ns[khA le; dh ckr] mlesa

ukS #i;s FksA Ng% dk Í.k mrkj fn;k_ vkxs cps

rhuA eka ls cksys] ^^esjh yM+dh ds lc dke gks

x, fd ugha\** fiQj Hkh cps jgs os gh rhu] rqe

yksx >V ls fo'okl NksM+ cSBrs gksA eSa dgrk gw¡

u fd Bkdqj th dh Hkqtk cM+h yEch gSA



(?k) ^HkbZ] ljdkjh iSls dk ekeyk gSA isa'ku dk dsl

chlksa nÝrjksa esa tkrk gSA nsj yx gh tkrh gSA chlksa

ckj ,d gh ckr dks chl txg fy[kuk iM+rk gS]

rc iDdh gksrh gSA ftruh isa'ku feyrh gS] mruh

gh LVs'kujh yx tkrh gSA gk¡] tYnh Hkh gks ldrk

gS] exjµ^^lkgc #dsA

5- fuEufyf[kr nks esa ls fdlh ,d dk mÙkj nhft,% 7

gtkjh izlkn f}osnh vFkok eksgu jkds'k esa ls fdlh ,d

dk lkfgfR;d ifjp; nhft,A

6- fuEufyf[kr y?kwÙkjh; iz'uksa esa ls yxHkx 200&200 'kCnksa esa

fdUgha nks dk mÙkj nhft,% 3,3

(d) ^v'kksd ds iwQy* fucU/ dk ewy Hkko Li"V

dhft,A

([k) ?khlk laLej.k ds vk/kj ij ?khlk dh pkfjf=kd

fo'ks"krk,¡ Li"V dhft,A

(x) firk th ds bZ'ojh; fo'okl ij laf{kIr fVIi.kh

dhft,A

(?k) ^Hkksyk jke dk tho* O;aX; ij laf{kIr fVIi.kh

dhft,A
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[k.M&x

7- dkO; dh ifjHkk"kk ,oe~ Lo:i crkrs gq, dkO; ds fofHkUu

iz;kstuksa ij izdk'k Mkfy,A

vFkok

[k.MdkO; dk Lo:i fu/kZfjr djrs gq, mlds y{k.kksa ij

izdk'k Mkfy,A 10

8- fuEufyf[kr esa ls fdUgha nks dk mÙkj nhft,% 5,5

(d) vuqizkl vyadkj dh ifjHkk"kk vkSj mnkgj.k nhft,A

([k) NUn ls D;k vfHkizk; gS\ NUn ds izdkjksa ij

izdk'k Mkfy,A

(x) [k.MdkO; dk Lo:i fu/kZfjr djrs gq, mlds

y{k.kks a ij izdk'k Mkfy,A

(?k) jkSnz jl dh ifjHkk"kk vkSj mnkgj.k nhft,A

9- fuEufyf[kr iz'uksa ds mÙkj nhft,% 10

(d) D;k jkecksyk dk uke rqylhnkl iM+k\ gk¡ ;k uk

esa mÙkj nhft,A

([k) ^vfLr dh iqdkj fgeky;* fucU/ ds ys[kd dk

uke crkb,A

1676/K/437 6



(x) egknsoh oekZ vius dkO; esa O;kIr ihM+k ds dkj.k

fdl vU; uke ls izfl¼ gS\

(?k) nhuca/q ikBd dh iq=kh dk D;k uke Fkk\

(Ä) ys[kd dh cgu dh lxkbZ esa mlds firk us fdrus

#i;s m/kj ekaxdj dke pyk;k Fkk\

(p) rqylhnkl th us vius Hkqtkvksa dh ihM+k ds 'keu

ds fy, dkSu lk xzUFk fy[kk\

(N) Hkksykjke ds fdrus cPps Fks\

(t) dkO; dk 'kjhj fdls ekuk x;k gS\

(>) dkO; ds fdrus rRo gSa\

(×k) pkSikbZ NUn esa fdruh ek=kk,¡ gksrh gSa\

1676/K/437 7



1678/K/7 P. T. O.

Roll No. ......................... Total Pages : 7

GSQ/M-21 1678

PUNJABI (ELECTIVE)

Time Allowed : 3 Hours] [Maximum Marks : 80

not:n ot:n ot:n ot:n ot: swry pRSn krny lwzmI hn[

1. iksy iekiekiekiekiek kvI dy jIvn, rcnw Aqy idRStI aupr
ivsQwr nwl crcw kro: 5

(a) gurU Arjn dyv

(A) pIlU[

2. iksy dododododo kwiv-toitAW dI pRsMg d`s ky ivAwiKAw
kro: 5,5

(a) sMq dw inMdku mhw AqqweI]

sMq dw inMdku iKnu itknu n pweI]

sMq dw inMdku mhw hiqAwrw]

sMq dw inMdku prmysuir mWg]

(A) iek idMn BYnUM supnw QIsIn,

glIAW bwbl vwlIAW vo?-] rhwau[

Eif gey Baur PulW dy kolo,

sx pqrW sx qwlIAW[
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(e) cVHdy imrjy KW nUM, vMjl dyNdw m`q[

B`T rMnW dI dosqI, KurI iznW dI m`q[

h`s dy lWdIAW XwrIAW, ro ky dyNdIAW d`s[

ijs Gr lweI dosqI, mUl n G`qy l`q[

(s) KMfw ipRQmY swjkY ijn sB sMswr aupwieAw]

bRhmw, ibsn, mhys, swij kudrqI dw Kyl
rcwie bxwieAw]

iS`D, prbq, myidnI ibn KMmW ggin rhwieAw]

isrjy dwno dyvqy iqn AMdir bwd rcwieAw]

3. pUrv nwnk kwl iv`c rcy gey sm`ucy swihq nwl
jwx-pCwx krvwE[

j Wj Wj Wj Wj W

vwir kwiv-Dwrw jW sUPI kwiv-Dwrw aupr iek
ivsQwr nwl not ilKo[ 15

4. hyT ilKy pMjwb swihq-rUpW iv`coN iksy do do do do do dI pirBwSw
d`s ky aunHW dy gux-l`CxW bwry ivcwr kro: 10,10

(a) nwvl

(A) iekWgI

(e) ryKw ic`qr

(s) jIvnI[
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5. hyT ilKy pYrHy dw ihMdI BwSw iv`c Anuvwd kro: 10

purwxy simAW ivc ivAwhW Aqy mrinAW qy A`j-
kl vWg kwrf nhIN C`pdy sn[ s`dy jubwnI qy
munyihAW rwhIN hI phuMcdy sn[ iPr lokI mrinAW
leI post-kwrf Byjn l`g pey[ AnpVHqw kwrn
bhuq swry lok post-kwrf pVH nhIN skdy sn[
pRwpq-krqw q`k s`dy dy Bwv phuMcwaux leI kuJ FMg
vI vrqy jWdy sn[ msln SgnW dy cwvW dy mokyN 'qy
Byjy jWdy s`dy dw suKwvW Aqy KuSIAW BirAW Bwv
aujwgr krn leI kwrf 'qy kysr, hldI jW sUhy rMg
dw iC`tw dy id`qw sI[ kwrf pRwpq krn vwlw jwx
jWdw sI ik kwrf KuSI dI ^br lY ky AwieAw sI[
mrn dI ^br vwly kwrf nUM A`Q iv`coN QoVw-ijhw
pwV id`qw jWdw sI[ pwtw hoieAw kwrf phuMcx 'qy
Gr ivc m`Qr iv`C jWdw sI[ qIvIAW vYx pwaux l`g
jWdIAW sn[ AWF-guAWF vwly vI mwqm leI phuMc
jWdy sn[ su`K-sWd dI ^br vwlw kwrf jykr iksy
Awx-gihlI kwrn rwh ivc pwt qW siQqI hwsohIxI
vI ho jWdI sI[ jdoN koeI piVHAW-iliKAw kwrf pVH
ky d`sdw sI qW lok roNdy-roNdy h`sx l`g pYNdy sn[

6. hyT ilKy vwkW dy vcn bdlo: 5

(i) hwQI mwirAw igAw[

(ii) cor corI krn qy pkiVHAw jWdw hY[
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(iii) ku`qw cor nUM vyK ky BONkdw hY[

(iv) ib`lI cUhy nUM vyK ky dOVHdI hY[

(v) imhnqkS lok eImwndwr vI huMdy hn[

7. hyT ilKy vwkW dy ilMg bdlo: 5

(i) muMifAW nwloN kuVIAW hr Kyqr ivc A`gy

hn[

(ii) mwqw bwzwr ivc sbjI lYx geI[

(iii) klws ivc muMfy Sor pw rhy sn[

(iv) myry mwmy dw muMfw skUl ivc mwstr hY[

(v) auh bVw by-iemwn hY[

8. hyT ilKy vsqUinST pRsnW dy shI ivklp ilKo:    10

(i) gurU Arjn dyv jI ny ikMnHy rwgW ivc bwxI

rcI hY?

(a) 19 rwgW ivc

(A) 20 rwgW ivc

(e) 21 rwgW ivc

(s) 22 rwgW ivc[



(ii) gurU qyg bhwdr jI dy ikMnHy slok hn?

(a) 15 slok

(A) 56 slok

(e) 57 slok

(s) 58 slok[

(iii) Swh husYn iks kwiv-Dwrw nwl sMbMiDq kvI

hY?

(a) sUPI kwiv-Dwrw

(A) gurmiq kwiv-Dwrw

(e) vwr kwiv-Dwrw

(s) ik`sw kwiv-Dwrw[

(iv) pIlU dI pRis`D rcnw ikhVI hY?

(a) hIr-rWJw

(A) imrzw-swihbW

(e) sohxI-mhIvwl

(s) s`sI-pMunU[
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(v) ‘cMfI dI vwr’ dw mu`K ivSw kI hY?

(a) Xu`D vrnx krnw

(A) pOrwixk kQw pyS krnw

(e) bdI aupr nykI dI ij`q

(s) dyviqAW dI khwxI pyS krnw[

(vi) pMjwb Sbd ikhVy-ikhVy SbdW dy myl qoN

bixAw?

(a) pMjW

(A) Awb

(e) pMj+Awb

(s) pM+jwb[

(vii) pMjwbI dw pihlw kvI iks nUM mMinAw jWdw

hY?

(a) FOrMgI nwQ nuM

(A) gopI nwQ nuM

(e) crpt nwQ nuM

(s) gorQ nwQ nuM[

1678/K/7 6



(viii) pMjwbI dI sB qoN pihlI bIr-rsI rcnw

ikhVI hY?

(a) bic`qr nwtk

(A) cMfI dI vwr

(e) Akwl ausqq

(s) jwpu swihb[

(ix) gurU gMRQ swihb jI dy ilKwrI kOx sn?

(a) BweI gurdws

(A) bwbw bu`Fw jI

(e) BweI jyTw jI

(s) BweI lihxw jI[

(x) gurU nwnk dyv jI dw jIvn kwl d`so:

(a) 1469-1539 eI.

(A) 1470-1540 eI.

(e) 1472-1542 eI.

(s) 1475-1545 eI.[
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1679/K/3 P. T. O.

Roll No. ......................... Total Pages : 2

GSQ/J-21 1679

SANSKRIT (Compulsory)

Time Allowed : 3 Hours] [Maximum Marks : 80

uksV% lHkh iz'u vfuok;Z gSaA

1- fuEufyf[kr iz'uksa ds mÙkj nhft,% 2×8=16

(d) f'kojkt fot; ds jpf;rk dk uke D;k Fkk\

([k) f=k;kek fdls dgrs gSa\

(x) ekdZ.Ms; fdldk uke Fkk\

(?k) ?kq.kk{kjU;kl ls D;k rkRi;Z gS\

(Ä) i×prU=k ds ys[kd dkSu gSa\

(p) t;nso dh jpuk dk uke fyf[k,A

(N) vya ds ;ksx esa dkSulh foHkfDr gksrh gS\

(t) Lokgk dk okD; esa iz;ksx dhft,A

2- (v) fuEufyf[kr esa ls fdUgha nks dk ljykFkZ dhft,% 2×5=10

(d) vgks! fpjjk=kk; lqIrks¿ge~] LoIutkyijrU=ks.kSo egku~ iq.;e;%
le;ks¿frokfgr%] lUè;ksiklu& le;ks¿;eLen~xq#pj.kkuke~] rr~ lifn
vofpuksfe dqlqekfuA

([k) rL;So lrhF;ksZ¿ijLrRlekuo;k% dLrwfjdkjs.kq#f"kr bo ';ke%] pUnup£pr
Hkky%] diwZjkxq#&{kksn& PNqfjr&o{kksckgqn.M%] lqxU/iVyS#fUunz;fUuo
funzk&eUFkjkf.kdksjd&fudqjEckUrjkylqIrkfu fefyUn&o`Unkfu >fVfrleqil`R;
fuokj;u~ xkSj& cVqesoeoknhr~A

(x) l p iztk foyq"B~;] efUnjkf.k fuikR;] izfrek fofHk|] ij''krku~
tuka'p nklhÑR;] 'kr'k m"Vªs"kq jRukU;kjksI; Lons'keuS"khr~A ,oa l
KkrkLokn% ikSu%iqU;su }kn'kokjekxR; Hkkjreyqyq.Br~A

(?k) egkendqya /eZjktyksdkèoU;èouhua fo/k;] lokZ% iztk'p i'kqekja
ekjf;Rok] rnzqf/jknzZe`nk xksjns'ks cgwu~ x`gku~ fuekZ; prqjfÄõ.;kuhfdU;k
Hkkjro"kZ izfo'; 'khry'kksf.krkuI;lu~ i×pk'knqÙkj}kn'k&'krfers¿Cns
fnYyhe'o;kEcHkwoA
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(vk) fuEufyf[kr esa ls fdlh ,d dh lizlax O;k[;k dhft,% 1×6=6

(d) fo".kksekZ;k Hkxorh ;;k lEeksfgra txr~A

([k) HkkLokfuoksn;fxfjek#jksgA

3- (d) ;oudky ds Hkkjro"kZ dh n'kk dk o.kZu dhft,A

vFkok

f'kojktfot; ds izFke fu'okl dk lkj fyf[k,A 8

([k) ;ksfxjkV~ vFkok lIro"khZ;k dU;k dk pfj=k&fp=k.k dhft,A 8

4- (d) t;nso vFkok ck.kHkV~V dk lkfgfR;d ifjp; fyf[k,A 8

([k) fuEufyf[kr esa ls fdUgha nks ij fVIi.kh fyf[k,% 2×4=8

egkHkkjr] Hkr`Zgfj] i×prU=kA

5- (d) r`rh;k vFkok prqFkhZ foHkfDr ds fofo/ iz;ksxks a dks lksnkgj.k fyf[k,A
6

([k) fuEufyf[kr esa ls fdUgha ik¡p okD;ksa dks 'kq¼ dhft,% 1×5=5

(i) jko.kL; foukA

(ii) l xzkes xPNfrA

(iii) dfLeu~ Js.;ka Hkoku~ vfLrA

(iv) ue% nsoe~A

(v) vya piyL;A

(vi) fo".kqa LokgkA

(vii) us=kk; dk.k%A

(viii) vklus vf/'ksrsA

(x) fuEufyf[kr esa ls fdUgha ik¡p miin foHkfDr;ksa dk okD; esa iz;ksx
dhft,% 1×5=5

Írs] vUrjk] vya] lk/Ze~] ifjr%] f/d~] [kyq] rqY;e~A
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SANSKRIT (Elective)

Time Allowed : 3 Hours] [Maximum Marks : 80

uksV% lHkh iz'u vfuok;Z gSaA

1- fuEufyf[kr iz'uksa ds mÙkj nhft,% 8×2=16

(i) ^izdk'ke~* dh ifjHkk"kk nhft,A

(ii) 'kdqUryk dh nks lf[k;ksa ds uke fyf[k,A

(iii) nq";Ur dh jkt/kuh dk D;k uke Fkk\

(iv) Írqlagkj esa fdrus lxZ gSa\

(v) egkHkkjr esa fdrus 'yksd gSa\

(vi) HkoHkwfr ds rhu ukVdksa ds uke fyf[k,A

(vii) nq";Ur ds ikl bUnz dk lans'k dkSu ykrk gS\

(viii) L=khfyÄõ cuk,a & fge] xks ikydA
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2- (d) fuEufyf[kr esa ls fdUgha nks 'yksdksa dh O;k[;k

dhft,% 2×5=10

(i) Hkkuq% lØ|qDrrqjÄõ ,o jkf=kfnoa xU/og% iz;kfrA

vos{; náa u 'keks¿fLr oÉs% "k"Bka'kòÙksjfi /eZ ,"k%AA

(ii) vk tUeu% 'kkB~;e'khf{krks ;LrL;kizek.ka opua tuL;A

ijkfrla/kue/h;rs ;S£o|sfr rs lUrq fdy vkIrokp%AA

(iii) Ñrk% 'k[;a gfj.kk roklqjk% 'kjklua rs"kq foÑ";rkfene~A

izlknlkSE;kfu lrka lqâTtus irfUr p{kqaf"k u nk#.kk%

'kjk%A

(iv) vusu dL;kfi dqykÄïjs.k Li`"VL; xk=ks"kq lq[ka eesne~A

dka fuo`fÙka psrfl rL; dq;kZ|L;keÄõkRÑfru% izlwr%A

([k) fuEufyf[kr esa ls fdlh ,d lwfDr dh lizlax

O;k[;k dhft,% 1×6=6

euksjFkk uke rVizikrk%

vFkok

tukdh.k± eU;s gqrogijhra x`gfeoA



3- (d) egkdfo dkfynkl dh jpukvksa esa jk"Vªh; Hkkouk

dk o.kZu dhft,A

vFkok

dkfynkl  dh  vyadkj&;kstuk  dk  o.kZu

dhft,A 1×10=10

([k) fuEufyf[kr es a ls fdUgha nks dh ifjHkk"kk

fyf[k,% 2×3=6

lw=k/kj] tukfUrde~] HkjrokD;e~] usiF;e~A

4- (d) Hkkjfo dk thou ifjp; nsrs gq, mudh jpukvksa

dk o.kZu dhft,A

vFkok

jkek;.k egkdkO; dk egRo fyf[k,A 2×4=8

([k) fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡

fyf[k,% 2×4=8

uhfr'krd] mÙkjjkepfjre~] t;nso] iaprU=kA

5- (d) fuEufyf[kr esa ls fdUgha nks lw=kks a dh O;k[;k

dhft,% 2×4=8

f}xks%] mfxr'p] oksrksxq.kopukr~] gyLrf¼rL;A

1680/K/8 3 P. T. O.
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([k) fuEufyf[kr esa ls fdUgha ,d fo"k; ij laLÑr esa

fucU/ fyf[k,% 1×8=8

(i) v¯glk ijeks /eZ%

(ii) vLekda Hkkjre~

(iii) ijksidkj%

(iv) ee fiz;% dfo%

(v) ;ksx% deZlq dkS'kye~A
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HISTORY MODERN EUROPE (1789-1945 A.D.)

Option–(ii)

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory. Attempt

four more questions selecting one question from each Unit.  For map

question the part relating to explanatory note will carry full marks

four Visually Disabled Candidates.

dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1 vfuok;Z gSA izR;sd bdkbZ
esa ls ,d iz'u dk p;u djrs gq, pkj vU; iz'u dhft,A us=kghu
fo|k£Fkvksa ds fy, ekufp=k lEcU/h iz'u esa O;k[;kRed fVIi.kh okys Hkkx
ds iwjs vad gksaxsA

Compulsory Question (vfuok;Z iz'u)

1. Choose the correct option of the following : 2×8=16

fuEufyf[kr esa ls lgh fodYi pqfu,%

(i) The French Revolution began on :

(a) July 14, 1789 A.D. (b) July 30, 1798 A.D.

(c) May 21, 1743 A.D. (d) May 23, 1759 A.D.

Úkalhlh Økafr dh 'kq#vkr gqbZ%

(a) tqykbZ 14] 1789 bZ- (b) tqykbZ 30] 1798 bZ-

(c) ebZ 21] 1743 bZ- (d) ebZ 23] 1759 bZ-

(ii) Who hosted the Congress of Vienna in 1815 A.D. ?

(a) Cavour (b) Metternich

(c) Victor Emanuel (d) Bismark.

1815 bZ- dh fo;uk dk¡xszl dh es”kckuh fdlus dh\

(a) dkcwj (b) eSV£u[k

(c) foDVj beSuqvy (d) fcLekdZA

OUTLINE MAP OF EUROPE



(iii) Which War began in 1870 A.D.?

(a) The France-Prussian War (b) The France-Russian War

(c) The France-England War (d) The Purssian-Austria War.

1870 bZ- esa dkSu lk ;q¼ 'kq: gqvk\

(a) Úkal&ijf'k;k ;q¼ (b) Úkal&:l ;q¼

(c) Úkal&baXySaM ;q¼ (d) ijf'k;k&vkfLVª;k ;q¼A

(iv) When did Victor Emmanuel II first declare the Kingdom of Italy ?

(a) 1848 A.D. (b) 1861 A.D.

(c) 1870-71 A.D. (d) 1891-92 A.D.

foDVj beSuqvy II us bVyh ds lkezkT; (bVyh ds ,dhdj.k) dh izFke
?kks"k.kk dc dh\

(a) 1848 bZ- (b) 1861 bZ-

(c) 1870&71 bZ- (d) 1891&92 bZ-A

(v) Name the German Emperor during the First World War :

(a) Shidman (b) Hermon Mooler

(c) Kaiser William–II (d) Kellimanshu.

izFke fo'o;q¼ ds le; ds teZu lezkV dk uke crkb,%

(a) f'kMeSu (b) geZu ewyj

(c) dSlj fofy;e–II (d) DyheSa'kwA

(vi) Who was the leader of Bolsheviks ?

(a) Nicholas–II (b) Lenin

(c) Stalin (d) Rasputin.

cksY'ksfodksa dk usrk dkSu Fkk\

(a) fudksyl–II (b) ysfuu

(c) LVkfyu (d) jkliqfruA

(vii) Who established Nazi Party ?

(a) Hitler (b) Mussolini

(c) Bismark (d) Napolean.

uk”kh ikVhZ dh LFkkiuk fdlus dh\

(a) fgVyj (b) eqlksfyuh

(c) fcLekdZ (d) usiksfy;uA

1682/K/10 2 
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(viii) Which American President was responsible for the idea of the League

of Nations ?

(a) Herbert Hoover (b) Woodrow Wilson

(c) Franklin Roasevert (d) Calvin Coolidge.

jk"Vª la?k ds fuekZ.k ds fy, dkSulk vesfjdu jk"Vªifr ftEesnkj Fkk\

(a) gcVZ gwoj (b) oqMjks foYlu

(c) ÚSadfyu :toVZ (d) dSfYou dwyhtA
UNIT–I  (bdkb Z–I)

2. Describe the Social and Economic causes of the French Revolution in

1789 A.D. 8,8

1789 bZ- dh Úkalhlh Økafr ds lkekftd o vk£Fkd dkj.kksa dk o.kZu dhft,A

3. Write an essay on Metternich System. 16

esV£u[k O;oLFkk ij ,d fucU/ fyf[k,A
UNIT–II  (bdkb Z–II)

4. Describe about the different stages of Unification of Italy. 16

bVyh ds ,dhdj.k ds fofHkUu pj.kksa dk mYys[k dhft,A

5. Give a brief account of the causes and events of the Russian Revolution,

1917 A.D. 16

:lh Økafr] 1917 bZ- ds dkj.k o ?kVukvksa dk la{ksi esa o.kZu dhft,A

UNIT–III  (bdkb Z–III)

6. Explain the establishment and rise of Nazism in Germany under

Hitler. 16

fgVyj ds v/hu teZuh esa uk”khokn ds mRFkku o LFkkiuk dk o.kZu dhft,A

7. Give a brief account of the causes and events of the Secod World War.   16

f}rh; fo'o;q¼ ds dkj.k o ?kVukvksa dk laf{kIr o.kZu dhft,A

UNIT–IV  (bdkbZ–IV)

8. Show Europe on the Eve of French Revolution in the Europe’s Map and

write an explanatory note. 10,6

fn, x, ;wjksi ds ekufp=k esa Úkalhlh Økafr ds le; ;wjksi dh n'kk n'kkZb,A ,d
O;k[;kRed fVIi.kh Hkh fyf[k,A
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MAP OF EUROPE

9. Show Europe on the Eve of World War-II in the World Map and write an

explanatory note. 10,6

fn, x, fo'o ds ekufp=k esa f}rh; fo'o;q¼ ds le; ;wjksi dh n'kk n'kkZb,A
,d O;k[;kRed fVIi.kh Hkh fyf[k,A

MAP OF EUROPE
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INDIAN ECONOMICS–II

Option–(i)

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question No. one

and two are compulsory. Attempt remaining

three questions selecting one question each from

any of the three units out of the four units. All

questions carry equal marks.

dqy ik¡p iz'u dhft,A iz'u la[;k ,d ,oa nks

vfuok;Z gSaA nh xbZ pkj bdkb;ksa ls fdUgha rhu

bdkbZ;ksa esa ls ,d&,d iz'u pqurs gq, 'ks"k rhu iz'u

dhft,A lHkh iz'uksa ds vad leku gSaA

1. Liberalisation, Privatisation and Globalisation are

the main features of new economic policy, the new

policy is based on the assumption that market forces

can guide the economy in a more effective manner

than excessive government control. In new

economic policy many industries earlier reserved

for public sector were dereserved and opened for
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private sector. For example Telecommunication

industry was earlier reserved for public sector.

BSNL and MTNL (both Public Sector Units) were

the only service providers in telecommunication

sector. After privatisation, many domestic private

sector companies and foreign telecom companies

entered in telecom sector in India. It has promoted

competition and has resulted in better quality

telecom services at lower prices.

In the light of this case answer the following :

Questions :

(a) What do you mean by New Economic Policy ?

(b) What is Privatisation ?

(c) What are the benefits of Privatisation ?

(d) Explain the main disadvantages of

Privatisation. 16

mnkjhdj.k] futhdj.k o oS'ohdj.k ubZ vk£Fkd uhfr dh

izeq[k fo'ks"krk,¡ gSaA ubZ vk£Fkd uhfr bl ekU;rk ij

vkèkkfjr gS fd cktkjh 'kfDr;k¡] vR;f/d ljdkjh fu;U=k.k

dh rqyuk esa vFkZO;oLFkk dk csgrj fn'kk funsZ'k dj ldrh



gSaA ubZ vk£Fkd uhfr esa] ,sls cgqr ls m|ksx tks igys

lkoZtfud {ks=k ds fy, vkjf{kr Fks] mUgsa vukjf{kr dj

fn;k x;k vFkkZr~ mUgsa futh {ks=k ds fy, [kksy fn;k x;kA

tSls nwjlapkj {ks=k  m|ksx dks igys lkoZtfud {ks=k ds fy,

vkjf{kr fd;k x;k FkkA lkoZtfud {ks=k dh dsoy nks

bdkb;k¡ BSNL o MTNL gh nwj lapkj {ks=k esa lsok,¡

iznku djrh FkhA futhdj.k ds varxZr nwjlapkj m|ksx dks

futh {ks=k ds fy, [kksy fn;k x;kA blls Hkkjrh; futh

{ks=k dh daifu;ksa rFkk fons'kh nwjlapkj daifu;ksa us Hkkjr

ds nwjlapkj {ks=k esa izos'k fy;kA blls nwjlapkj {ks=k esa

izfrLi/kZ dks c<+kok feykA blds ifj.kkeLo:i nwjlapkj

lsokvksa dh xq.koÙkk esa lq/kj gqvk rFkk lsokvksa dh dherksa

esa fxjkoV vkbZA

mijksDr fLFkfr vè;;u ds vk/kj ij fuEufyf[kr iz'uksa ds

mÙkj nhft,%

(a) ubZ vk£Fkd uhfr ls vkidk D;k vfHkizk; gS\

(b) futhdj.k D;k gS\

(c) futhdj.k ds D;k ykHk gSa\

(d) futhdj.k ds eq[; nks"kksa dk o.kZu dhft,A 16
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2. (a) Choose the correct alternative of the

following : 5×1=5

fuEufyf[kr esa ls lgh fodYi dk p;u dhft,%

(i) Which of the following problem is faced by

Indian Industries ?

(a) Lack of Power sources

(b) Poor quality production

(c) Foreign competition

(d) All of these.

fuEufyf[kr esa ls dkSu&lh leL;k dk Hkkjrh;
m|ksxksa dks lkeuk djuk iM+rk gS\

(a) 'kfDr ds lk/uksa dh deh

(b) mRiknu dh ?kfV;k xq.koÙkk

(c) fons'kh izfr;ksfxrk

(d) mijksDr lHkhA

(ii) What was the slogan of Twelfth Five Year

Plan ?

(a) Garibi Hatao

(b) Self reliance

(c) Agricultural development

(d) Faster, sustainable and more inclusive

growth.

1684/K/12 4



ckjgoha iapo"khZ; ;kstuk dk ukjk D;k Fkk\

(a) xjhch gVkvks

(b) vkRe fuHkZjrk

(c) Ñf"k dk fodkl

(d) rhoz] lrr~ ,oa lekos'kh fodklA

(iii) Which of the following is not covered under

WTO ?

(a) TRIPs

(b) TRIMs

(c) GATS

(d) Custom Union.

fuEu esa ls dkSu lk le>kSrk WTO ls lEcfUèkr

ugha gS\

(a) TRIPs

(b) TRIMs

(c) GATS

(d) dLVe ;wfu;uA

1684/K/12 5 P. T. O.



(iv) In comparison to Small Scale Enterprises,

MNCs enjoy more :

(a) Marketing superiority

(b) Technological superiority

(c) Financial superiority

(d) All of these.

NksVs Lrj ds miØeksa dh rqyuk esa cgqjk"Vªh; fuxeksa

ds ikl &&&&&&&&&&&&&&& gSA

(a) foi.ku Js"Brk

(b) rduhdh Js"Brk

(c) foÙkh; Js"Brk

(d) mijksDr lHkhA

(v) The parties involved in the process of

Industrial relations are :

(a) Workers

(b) Employers

(c) Government

(d) All of these.

1684/K/12 6



vkS|ksfxd lEcU/ksa dh izfØ;k esa i{k 'kkfey

gSa %

(a) Jfed

(b) fu;ksDrk

(c) ljdkj

(d) mijksDr lHkhA

(b) Match  the  following  with  their  correct

answer: 5

(i) Pradhan Mantri (a) SDRs

Jan Dhan Yojna

(ii) Railways and (b) Favourable

Atomic Energy Balance of Trade

(iii) NITI Aayog was (c) Banking facility

set up in the year

(iv) Special Currency (d) 2015

of IMF

(v) Exports of goods > (e) Public Sector

Imports of goods
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fuEufyf[kr dk muds lgh mÙkj ls feyku dhft,%

(i) iz/kuea=kh (a) SDRs  (fo'ks"k

tu /u ;kstuk vkgj.k vfèkdkj)

(ii) jsyos ,oa (b) vuqdwy O;kikj 'ks"k

vkf.od ÅtkZ

(iii) uhfr vk;ksx dh (c) cSā dx lqfo/k

LFkkiuk o"kZ esa gqbZ

(iv) vUrjkZ"Vªh; eqnzk dks"k (d) 2015

dh fo'ks"k djalh

(v) mRikn fu;kZr > (e) lkoZtfud {ks=k

mRikn vk;kr

(c) Answer the following questions : 6

(i) What is WTO ?

(ii) Write two harmful effects of Multinational

Corporations on Indian Economy.

(iii) What do you mean by Comparative

advantage in the context of Foreign Trade ?
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fuEufyf[kr iz'uksa ds mÙkj nhft,%

(i) WTO D;k gS\

(ii) cgqjk"Vªh; fuxeksa ds Hkkjrh; vFkZO;oLFkk ij iM+us

okys nks gkfudkjd izHkko crkb,A

(iii) fons'kh O;kikj ds lUnHkZ esa rqyukRed ykHk ls vki

D;k le>rs gSa\

UNIT–I  (bdkbZ–I)

3. Examine the pattern of Industrial development during

the Plan period in India. 16

Hkkjr esa ;kstuk dky ds nkSjku vkS|ksfxd fodkl ds <kapsa

dh foospuk dhft,A

4. Describe the growth and problems of Information

Technology Industry in India. 16

Hkkjr esa lwpuk izkS|ksfxdh m|ksx ds fodkl ,oa leL;kvksa

dk o.kZu dhft,A

UNIT–II  (bdkbZ–II)

5. What do you mean by Industrial Peace ? Explain the

essential conditions for maintaining Industrial peace.

Briefly discuss also the causes of bad Industrial

relations. 16
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vkS|ksfxd 'kkafr ls vkidk D;k vfHkizk; gS\ vkS|ksfxd 'kkafr

dks cuk, j[kus ds fy, vfuok;Z 'krks± dh O;k[;k dhft,A

vkS|ksfxd lEcU/ksa ds [kjkc gksus ds dkj.kksa dh Hkh la{ksi

esa leh{kk dhft,A

6. What do you mean by the Industrial Disputes ?

What are the causes and effects of Industrial

disputes ? 16

vkS|ksfxd fooknksa ls vkidk D;k vfHkizk; gS\ vkS|ksfxd

fooknksa ds dkj.k vkSj izHkko D;k gSa\

UNIT–III  (bdkbZ–III)

7. Discuss the achievements and failures of Economic

Planning in India. 16

Hkkjr esa vk£Fkd fu;kstu dh liQyrkvksa ,oa vliQyrkvksa

dk o.kZu dhft,A

8. What is Economic Planning ? Briefly examine the

objectives and the strategy of Indian Planning. 16

vk£Fkd fu;kstu ls D;k vfHkizk; gS\ Hkkjr esa vk£Fkd

fu;kstu ds y{;ksa ,oa j.kuhfr dk la{ksi esa o.kZu dhft,A

1684/K/12 10



UNIT–IV  (bdkbZ–IV)

9. Why was International Monetary Fund established ?

Explain the success and failures of IMF. 16

vUrjkZ"Vªh; eqnzk dks"k dh LFkkiuk D;ksa dh xbZ\ vUrjkZ"Vªh;

eqnzk dks"k dh liQyrkvksa ,oa vliQyrkvksa dk o.kZu dhft,A

10. Analyse the causes of adverse balance of payments of

India. How can it be corrected ? 16

Hkkjr ds izfrdwy Hkqxrku lUrqyu ds dkj.kksa dk fo'ys"k.k

dhft,A bls fdl izdkj lgh fd;k tk ldrk gS\
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ETHICS & SOCIAL PHILOSOPHY

(INDIAN AND WESTERN)–II

Paper–VI

Option–(i)

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one

question from each Unit. Question No. 1 is

compulsory. All questions carry equal marks.

izR;sd bdkbZ esa ls ,d iz'u dk p;u djrs gq,]
dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la[;k 1

vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA

Compulsory Question (vfuok;Z iz'u)

1. Write short notes, limited to 25-30 words on any

eight of the following : 8×2=16

fuEufyf[kr esa ls fdUgha vkB ij 25&30 'kCnksa rd lhfer
laf{kIr fVIi.kh dhft,%

(i) Conduct

vkpj.k
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(ii) Voluntary Action

,sfPNd deZ

(iii) Varna

o.kZ

(iv) Categorical imperative

fujis{k vkns'k

(v) Moral Progress

uSfrd mUufr

(vi) Corruption

Hkz"Vkpkj

(vii) Air pollution

ok;q iznw"k.k

(viii) Capital punishment

e`R;qn.M

(ix) Good

'kqHk

(x) Right

mfpr



UNIT–I  (bdkbZ–I)

2. Explain the fundamental Ethical Concepts. 16

vk/kjHkwr uSfrd lEizR;;ksa dh O;k[;k dhft,A

3. Discuss Varna-Aashram Dharma. 16

o.kkZJe /eZ dh foospuk dhft,A

UNIT–II  (bdkbZ–II)

4. What is the meaning of Moral Judgement ? Explain

its nature. 16

uSfrd fu.kZ; dk D;k vFkZ gS\ blds Lo:i dh O;k[;k
dhft,A

5. Describe the Kant’s theory of Categorical

Imperative. 16

dk.V ds fujis{k vkns'k ds fl¼kUr dh O;k[;k dhft,A

UNIT–III  (bdkbZ–III)

6. Define Moral Progress.  Explain the criteria of Moral

Progress. 16

uSfrd izxfr dks ifjHkkf"kr dhft,A uSfrd izxfr ds
ekin.M dh O;k[;k dhft,A
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7. Explain the Reformative theory of Punishment.  16

n.M ds lq/kjkRed fl¼kUr dh O;k[;k dhft,A

UNIT–IV  (bdkbZ–IV)

8. Define Corruption and discuss on its various

types. 16

Hkz"Vkpkj dks ifjHkkf"kr djrs gq, blds izdkj crkb,A

9. What do you understand by War and Peace ?

Explain the causes of War. 16

;q¼ vkSj 'kkfUr ls vki D;k le>rs gSa\ ;q¼ ds dkj.kksa dh

O;k[;k dhft,A
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